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MATHS

BOOKS - MODERN PUBLICATION

SURFACE AREAS AND VOLUMES

1. Find the surface area of cuboid whose
length, breadth and height are 20 cm, 10 cm

and 8 cm respectively.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_CtXSoqBfVmUY

° Watch Video Solution

2. Find the surface area of a cube whose edge

is 12 cm.

o Watch Video Solution

3. The dimensions of a cubois are in the ratio
of 1:2:3 and its total surface area is 198m>.

Find the dimensions.

o Watch Video Solution



https://dl.doubtnut.com/l/_CtXSoqBfVmUY
https://dl.doubtnut.com/l/_9wLcbc6jXWUm
https://dl.doubtnut.com/l/_h3M29tKiacv2

4. A cuboidal has total surface area of 90cm?
and its lateral surface area is 36m?2. Find the

area of the base.

o Watch Video Solution

5. Three cubes, each of 5 cm, are joined end to
end. Find the surface area of the resulting

cuboid.

o Watch Video Solution



https://dl.doubtnut.com/l/_h3M29tKiacv2
https://dl.doubtnut.com/l/_cVt9gO4aWlvM
https://dl.doubtnut.com/l/_Klx8fPQBed86

6. A magician wants to take his stick
measuring 28 cm in his luggage box. The
dimensions of his luggage box are
26cm X 1bem X 3em. Can he put his stick in

the box?

o Watch Video Solution

7. The sum of the length breadth and height of

the cuboid is 16 cm and the length of its


https://dl.doubtnut.com/l/_JrO14ubvOYAU
https://dl.doubtnut.com/l/_75pkLb0h9PEa

diagonal is 12 cm. find the total surface area of

the cuboid.

° Watch Video Solution

8. The cost of papering four walls of a room at
Rs 140 is Rs 315. The height of the room is 5
metres. Find the length and breadth of the

room if they are in the ratio 4:1.

o Watch Video Solution



https://dl.doubtnut.com/l/_75pkLb0h9PEa
https://dl.doubtnut.com/l/_1rdwajzlemoH

9. Find the cost of colour washing the four
walls of a room whose length is 8 cm, breadth
is 7 m and height is 6 m at the rate of Rs 30

per square metre.

o Watch Video Solution

10. A wooden box 1.5 m long, 1.25 m wide and
65 cm deep and open at the top is to be made.
Find the cost of wood required for it, if Rs 30

is the cost of 1 metre square of wood.

| & I


https://dl.doubtnut.com/l/_wbO2N7HoQtTr
https://dl.doubtnut.com/l/_NqSh9s53sxB3

| ¥ Watch Video Solution |

11. The cost of papering four walls of a room at
Rs 140 is Rs 315. The height of the room is 5
metres. Find the length and breadth of the

room if they are in the ratio 4:1.

o Watch Video Solution

12. A class room is 7 m long, 6.5 m wide and 4
m high. It has one door 3m X 1.4m and three

windows 2m X 1m. The interior walls are to


https://dl.doubtnut.com/l/_NqSh9s53sxB3
https://dl.doubtnut.com/l/_RqClmZh0syZC
https://dl.doubtnut.com/l/_tAN1Y5eV0A7b

be white rushed. The contractor charges Rs
10.50 per square metre. Find the total cost of

white washing.

° Watch Video Solution

1
13. Length of a room is 15 times its breadth
1
and its height is 2 times its length. The cost
of white washing the walls at the rate of

Rs2.60perm? is Rs 291.20. find the cost of

tiling the floor at the rate of Rs8perm?.

° Watch Video Solution



https://dl.doubtnut.com/l/_tAN1Y5eV0A7b
https://dl.doubtnut.com/l/_08OhUh0fizjW

14. Find the volume of a cuboid whose
intensions are:

length=15m,breadth=12m and height=4.5m.

o Watch Video Solution

15. Find the volume of a cube, each of whose

edge measures 10cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_08OhUh0fizjW
https://dl.doubtnut.com/l/_GEYsAX1pa0e1
https://dl.doubtnut.com/l/_BBumvwsoobh1
https://dl.doubtnut.com/l/_tNs4kBEBqeO8

16. The total surface area of a cube is 216m?2.

Find its volume.

o Watch Video Solution

17. The lateral surface area of a cube is 324cm?

. Find its volume.

° Watch Video Solution

18. Find the how many cubes, each of edge 4

m, can be cut from a cuboid of dimensions


https://dl.doubtnut.com/l/_tNs4kBEBqeO8
https://dl.doubtnut.com/l/_2EC3MjGawxRe
https://dl.doubtnut.com/l/_uHR1xVKwBqVQ

20m x 16m x 8m.

o Watch Video Solution

19. The volume of a cuboid is 1372cm?. Its
breadth is equal to its length and its height is
4 times its width. What are the dimensions of

the cuboid.

° Watch Video Solution



https://dl.doubtnut.com/l/_uHR1xVKwBqVQ
https://dl.doubtnut.com/l/_s05GdZ8ZXyed

20. A granary is in the shape of a cuboid of
size 12m x 6m X 4m. A bag of grain occupies
a space of 0.75m>. How many bags can be

stored in the grnaary?

° Watch Video Solution

21. The length of a cold storage is double its
breadth. Its height 3 metres. The area of its

four walls is 108m?2. Find its volume.

° Watch Video Solution



https://dl.doubtnut.com/l/_Gilv9AJvZiZg
https://dl.doubtnut.com/l/_AsHQ188H3tun

22. A metallic sheet is of rectangular shape

with dimensions 48cm X 36cm. An open box

iIs made by cutting off squares of side 8 cm

from each and folding up the flaps. Find the

volume of the box.
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https://dl.doubtnut.com/l/_AsHQ188H3tun
https://dl.doubtnut.com/l/_ygRqvkMBkOjf

I 0 Watch Video Solution I

23. A box with lid is made of 2 cm thick wood.
Its external length, breadth and height are 26
cm, 20cm and 15 cm, respectively. How many
cubic cm of liquid can its store? Also, find the

volume of wood used in it.

o Watch Video Solution

24. Water flows in a tank 200m x 150m at the

base, through a pipe whose cross section is 2


https://dl.doubtnut.com/l/_ygRqvkMBkOjf
https://dl.doubtnut.com/l/_r7U0ZO7DsSCq
https://dl.doubtnut.com/l/_q9KsSsjgEZVd

dm by 1.5 dm at the speed of 15 km per hour in

what time, will the water by 3 metres deep?

° Watch Video Solution

25. A plot of land is 240 m long and 180 m
broad. A trench 10 m wide is dug all around if
and the earth dug out is spread over the plot,
consisting level of the plot by 25 cm. find the

depth of the brench.

° Watch Video Solution



https://dl.doubtnut.com/l/_q9KsSsjgEZVd
https://dl.doubtnut.com/l/_qFurFn2hpSs4
https://dl.doubtnut.com/l/_6Vpp6OclXKGs

26. A solid wood piece is made up of two
pieces joined at right angles. The face
ABCDEFA is the wuniform cross section.
Assuming all the angles AB,C,DE and F to be
right angles, find the volumes of the piece
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° Watch Video Solution



https://dl.doubtnut.com/l/_6Vpp6OclXKGs

27. A child playing with building blocks, which
are of the shape of cubes, has built a structure
as shown in following figure. If edge of each

cube is 5 cm, find the volume of structure.

o Watch Video Solution



https://dl.doubtnut.com/l/_e42rQmiQsSr0

28. Find the area of curved surface of cylinder

having radius of base 14 cm and height 25 cm.

° Watch Video Solution

29. Find total surface area of a cylinder having

radius of base 14 cm and height 25 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_79tYyfwJK8xT
https://dl.doubtnut.com/l/_qu40CbjNbQhv

30. The ratio between the curved surface area
and the total surface area of a right circular
cylinder is 1:3, find the ratio between the

length and radius of the cylinder.

o Watch Video Solution

31. The radii of two right circular cylinder in
the ratio 2 : 3 and their heights are in the ratio
5:4. Show that the ratio of their curved

surfaces is 5: 6.

| & I


https://dl.doubtnut.com/l/_zrPAS9HYfvZe
https://dl.doubtnut.com/l/_eINaqhRlzvPA

| ¥ Watch Video Solution |

32. An iron pipe 20 cm long has exterior equal
to 25 cm. If 1 cm is thickness of the pipe. Find

the whole surface area of the pipe.

o Watch Video Solution

33. The diameter of a roller is 1.4 m and its is
0.7 m long. How much area will it cover in 4

revolutions?

o Watch Video Solution



https://dl.doubtnut.com/l/_eINaqhRlzvPA
https://dl.doubtnut.com/l/_ESvBXcHhXzMc
https://dl.doubtnut.com/l/_Q65WGqIK1Jsz

34. Find the cost of preparing a closed
cylindrical tank of height 2.8 m and base

diameter 4 m at the rate of Rs 100 per sq. m.

o Watch Video Solution

35. The diameter of a roller, 140 cm long is 9
cm. if takes 400 complete revolutions to level
a playground, find the cost of levelling at Rs 1

per square metre.

| = |


https://dl.doubtnut.com/l/_Q65WGqIK1Jsz
https://dl.doubtnut.com/l/_JkSuXEs6NNM7
https://dl.doubtnut.com/l/_1C1vkA0dq9gg

I &9 Watch Video Solution I

36. Find the volume of a right circular cylinder

whose radius is 14 cm and height is 10 cm.

o Watch Video Solution

37.The area of the base of a cylinder is 25¢m?
with height is 15 cm. find the volume of the

cylinder.

o Watch Video Solution



https://dl.doubtnut.com/l/_1C1vkA0dq9gg
https://dl.doubtnut.com/l/_JVuSPAzJ0cSn
https://dl.doubtnut.com/l/_GidGbm03Mnf7

38. The radius and height of the cylinder are
ratio 4:7. Determine the radius of the cylinder

with its volume is 1188cm?.

o Watch Video Solution

39. The curved surface area and volume of a
pillar are 264cm? and 396cm?® respectively.

Find the height and radius of the pillar.

o Watch Video Solution



https://dl.doubtnut.com/l/_sBnblI5fF5Wk
https://dl.doubtnut.com/l/_mjjw0QAth9tm
https://dl.doubtnut.com/l/_nqAurPZE47gy

40. The circumference of the base of a
cylindrical vessel is 110 cm and its height is 20

cm. how many litres of water can it hold?

o Watch Video Solution

41. a circular drum having radius 4.2 m and
height 3.5 m, how many bags of rice can be
emptied when the space required for rice in

each bag is 2.1 cubic m.

o Watch Video Solution



https://dl.doubtnut.com/l/_nqAurPZE47gy
https://dl.doubtnut.com/l/_yHzs0LDX9pUh

42. A well with 12 m inside diameter is dug 14
m deep. Earth taken out of its spread all
around to a width of 5 m to form of an

embankiment. Find the height of embankment.

o Watch Video Solution

43. Find the weight of a lead pipe 3.5 m long.
The external diameter of pipe is 24 cm and
thickness of the pipe is 3 mm and 1 cm. of lead

weights 10 g.

| & |


https://dl.doubtnut.com/l/_bFpSy2nmtEQD
https://dl.doubtnut.com/l/_o2N2Vckz63PA

| ¥ Watch Video Solution |

44, A rectangular sheet of paper of
dimensions 30cm x 16cm can be transformed
into an open ended cylinder in two ways. Find
the ratio of volumes of two cylinders thus

formed.

o Watch Video Solution

45, The radius of a cone is 7 cm and its slant

height is 9 cm. find the


https://dl.doubtnut.com/l/_o2N2Vckz63PA
https://dl.doubtnut.com/l/_pG5RybhxcGkn
https://dl.doubtnut.com/l/_8DA0up5Cstw7

curved surface area.

o Watch Video Solution

46. The radius of a cone is 7 cm and its slant
height is 9 cm. find the

total surface area of the cone.

o Watch Video Solution

47. The height of a cone is 24 cm and the

radius of the base is 7 cm. find the slant height


https://dl.doubtnut.com/l/_8DA0up5Cstw7
https://dl.doubtnut.com/l/_yJa9YvNGGWbg
https://dl.doubtnut.com/l/_J7FUtmyLlsgV

and the total surface area of the cone.

o Watch Video Solution

48. The radius of the slant height of a cone are
in the ratio of 4:7. if its curved surface area is

792c¢m?. Find its radius.

o Watch Video Solution

49. The lateral surface area of a cylinder is

equal to the curved surface area of the cone. If


https://dl.doubtnut.com/l/_J7FUtmyLlsgV
https://dl.doubtnut.com/l/_8QebTeGC8RjE
https://dl.doubtnut.com/l/_3qQX4uo0EVUs

the radius is same, then find the ratio of the
height of the cylinder and slant height of the

cone.

o Watch Video Solution

50. How many metres of cloth 5 m wide will be
required to make a conical tent, the radius of

whose base is 7 m and whose height is 24 m?

o Watch Video Solution



https://dl.doubtnut.com/l/_3qQX4uo0EVUs
https://dl.doubtnut.com/l/_tSrwfGaK6o2D

51. A joker’s cap is in the form of a right
circular cone of base radius 7 cm and height
24 cm. Find the area of the sheet required to
make 100 such caps if 1m? of sheet used for

making cap costs Rs 700.

- o - —— IR

o Watch Video Solution



https://dl.doubtnut.com/l/_Zov35Lhh2g1D

52. A tent is of the shape of a right circular
cylinder upto height of 3 metres and then
becomes a right circular cone with maximum
height of 13.5 metres above the ground.
Calculate the cost of painting the inner side of

the tent at the rate of Rs.2 per square metre, if


https://dl.doubtnut.com/l/_Zov35Lhh2g1D
https://dl.doubtnut.com/l/_Oe99MkbCd4FZ

the radius of the base is 14 metres.

3m
X | Jam

o Watch Video Solution

53. Find the volume of a right circular cone

whose base raidus is 21 cm and height 10.2 m

o Watch Video Solution



https://dl.doubtnut.com/l/_Oe99MkbCd4FZ
https://dl.doubtnut.com/l/_jqPJr8HEntGU

54. The radius of a right circular cone is 4 cm

and volume if 48wem? find its height.

° Watch Video Solution

55. The volume of a cone is 18480cm?. If the
height of the cone is 40 cm, find its radius of

the base.

° Watch Video Solution



https://dl.doubtnut.com/l/_jqPJr8HEntGU
https://dl.doubtnut.com/l/_0xJf5dQGTjSc
https://dl.doubtnut.com/l/_K5RtZ7bEbxyQ
https://dl.doubtnut.com/l/_yllvGDnCajAG

56. A conical tank is 4 m deep and its circular
top has radius 1.75 m, find the capacity of the

tank in kilolitres.

° Watch Video Solution

57. A cone and a cylinder have the same base.
Find the ratio of their heights it their volumes

are equal.

° Watch Video Solution



https://dl.doubtnut.com/l/_yllvGDnCajAG
https://dl.doubtnut.com/l/_AEUgm5L53l0i
https://dl.doubtnut.com/l/_8a5bzoMdvaQz

58. The base radiii of two right circular cones
of the same height are in the ratio 3:5. find the

ratio of their volumes.

° Watch Video Solution

59. A solid cube of side 9 cm is melted to make
a cone of height 5 cm, find the radius of the

base of the cone.

° Watch Video Solution



https://dl.doubtnut.com/l/_8a5bzoMdvaQz
https://dl.doubtnut.com/l/_LA3UYj7jsJ9S

60. If h,CV are respectively the height, the
curved surface and volume of the cone, prove
that:

3nVh® — C?h2 +9V2 =0

o Watch Video Solution

61. A conical tent is to accommodate 11
persons. Such person should have 4 sq.m of
space on the ground and 20 cubic metres of

air to breathe? Find the height of the cone.

| & I


https://dl.doubtnut.com/l/_xY6eiCBHBGQi
https://dl.doubtnut.com/l/_UHCNKEGejQrR

| ¥ Watch Video Solution |

62. find the volume of the largest circular cone

that can be out of a cube whose edge is 10 cm.

° Watch Video Solution

63. A cone of radius 4 cm is filled with water. If
the water is poured in a cylinder of radius 8
cm, the height of the water rises 2 cm, find the

heiht of the cone.

o Watch Video Solution



https://dl.doubtnut.com/l/_UHCNKEGejQrR
https://dl.doubtnut.com/l/_POk652bmTS6Y
https://dl.doubtnut.com/l/_KMucwf3Q4M7j

64. A semicircular thin sheet of metal of
diameter 30 cm is bent an open an conical cup

is made. Find the capacity of the cup.

o Watch Video Solution

65. Find the surface area of a sphere of radius

14 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_KMucwf3Q4M7j
https://dl.doubtnut.com/l/_die8pd1suyXo
https://dl.doubtnut.com/l/_cQDIhQIIjibx
https://dl.doubtnut.com/l/_5i6JzCVTIJ0U

66. Find the curved surface area and total

surface area of hemisphere of radius 14 cm.

o Watch Video Solution

67. The surface area of a sphere is 346.5¢cm?.

Find its radius.

o Watch Video Solution



https://dl.doubtnut.com/l/_5i6JzCVTIJ0U
https://dl.doubtnut.com/l/_MBRi4QZ6aCL3

68. A sphere, a cylinder and a cone with are of
the same radius and same height. Find the

ratio of their curved surfaces.

o Watch Video Solution

69. Prove that the surface area of the sphere is
assume as that of the lateral surface of a right
circular cylinder, which just encloses the

sphere.

° Watch Video Solution



https://dl.doubtnut.com/l/_51jTndW0TBXP
https://dl.doubtnut.com/l/_vf3d9AJgFgR4

70. A toy is in the shape of a right circular
cylinder with a hemisphere on one end and a
cone on other. The radius and height of the
cylindrical part are5cm and13cm respectively.
The radii of hemisphere and conical parts are
the same as that of the cylindrical part. Find
the surface area of the toy if the total height

of the conical part is12cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_vf3d9AJgFgR4
https://dl.doubtnut.com/l/_I9oROGbOHEkR

71. The internal and external diameters of a
hollow hemisphere vessel are 42 cm and 45.5
cm respectively. Find its capacity and also its

outer curved surface area.

° Watch Video Solution

72. Find the cost of fencing a square park of

side 250 m at the rate of Rs.20 per metre.

o Watch Video Solution



https://dl.doubtnut.com/l/_pr8VMjw4IVc5
https://dl.doubtnut.com/l/_PdKGgtJsnXB5
https://dl.doubtnut.com/l/_CBIaCdclcB1f

73. A wooden toy is in the form of a cone
surmounted by a hemisphere. The diameter of
the base of the cone is 6 cm. and its height is
4 cm. Find the cost of painting the toy at the

rate of Rs. 50 per 1000cm?>.

o Watch Video Solution

74.Find the volume of a sphere of radius 1 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_CBIaCdclcB1f
https://dl.doubtnut.com/l/_HqanjJ4qhkIs
https://dl.doubtnut.com/l/_vreu91IFfxfn

75.Find the volume of a sphere whose surface

area is 154cm? .

° Watch Video Solution

76. Find the surface area of a sphere whose

volume is 4851cm°.

o Watch Video Solution

77. Two numbers are in the ratio 3:4. If the

difference of their cubes is 37 find the


https://dl.doubtnut.com/l/_vreu91IFfxfn
https://dl.doubtnut.com/l/_4f93NmvRJkeQ
https://dl.doubtnut.com/l/_ZdCJnVia4C6n

numbers.

o Watch Video Solution

78. Find the volume of a hemispherical of

radius 3.5 cm.

° Watch Video Solution

79. The circumference of the edge of a

hemispherical bowl is 132 cm. find its capacity?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZdCJnVia4C6n
https://dl.doubtnut.com/l/_5Vc5OnJSrBFV
https://dl.doubtnut.com/l/_6DDPiXdoPBUz

80. A hemispherical bowl is made of steel 0.25
cm thick. The inner radius of the bowl is 5 cm.
Find the volume of steel used in making the

bowl. [ Take 7 = 3.14]

° Watch Video Solution

81. How many spherical bullets can be made
form a solid cube of lead where edge

measures 44 cm, having 2 cm in radius?

| e |


https://dl.doubtnut.com/l/_6DDPiXdoPBUz
https://dl.doubtnut.com/l/_YhPdxAxM7Z5m
https://dl.doubtnut.com/l/_pecDuDrqVzxY

& Wwatch Video Solution I

82. A solid lead ball of radius 7 cm is melted is
converted into a wire of diameter 0.2 cm. find

its length of the wire.

° Watch Video Solution

83. A vessel is in the form of a hollow
hemisphere mounted by a hollow cylinder. The

diameter of the hemisphere is 14 cm and the


https://dl.doubtnut.com/l/_pecDuDrqVzxY
https://dl.doubtnut.com/l/_bL1ErIcngM0e
https://dl.doubtnut.com/l/_ie37hN65EgRp

total height of the vessel is 13 cm. Find the

inner surface area of the vessel.

° Watch Video Solution

84. A solid wooden toy is in the shape of a
right circular cone mounted on a hemisphere.
If the radius of the hemisphere is 4.2 cm and
the total height of the toy is 10.2 cm, find the

volume of the wooden toy.

° Watch Video Solution



https://dl.doubtnut.com/l/_ie37hN65EgRp
https://dl.doubtnut.com/l/_Zj0i7Te9xsw4
https://dl.doubtnut.com/l/_JNaDCQbR8809

85. A right circular cone of diameter r cm and
height 12 cm rests on the base of a right
circular cylinder of radius r cm. Their bases are
in the same plane and the cylinder is filled
with water upto a height of 12 cm. If the cone
is removed, find the height to which water

level fall.



https://dl.doubtnut.com/l/_JNaDCQbR8809

° Watch Video Solution

86. A sphere of diameter 6cm is dropped in a
right circular cylindrical vessel partly filled with
water.The diameter of cylindrical vessel is
12cm.If the sphere is completely submerged in
water,by how much will the level of water rise

in the cylindrical vessel.

o Watch Video Solution



https://dl.doubtnut.com/l/_JNaDCQbR8809
https://dl.doubtnut.com/l/_YLomQAneFGxD

87. A cylindrical container of radius 5 cm and
height 10 cm is fulled with ice-cream. The
whole ice-cream has to be distributed to 10
children in equal cones with hemispherical
tops. If the height of the conical portion is
four times the radius of its base, find the

radius of the ice-cream cone

o Watch Video Solution



https://dl.doubtnut.com/l/_iykbpHFZjnXk

88. If diameter of a sphere is decreased by 25%
then what percent does its curved surface

area decrease ?

o Watch Video Solution

89. A NCC camp for a weak was organised for
Class IX students. The accomodation was
planned in hemispherical tents each of radius
2.8 cm. obtain the area of the canvase required

for making the tent. Also, find the cost of tent


https://dl.doubtnut.com/l/_oxmzQuL2wfj8
https://dl.doubtnut.com/l/_tiEuYHUQZxLH

Rs. 300perm?. In what way camping is helpful

for the development of the students?

o Watch Video Solution

90. Kunal is curious to find out the
relationship between the diameter o the
moon and the earth. From the available data,
it is know that the volume of earth is 64 times
the volume of the moon. He concluded that

the diameter of the moon is 1/4 of the


https://dl.doubtnut.com/l/_tiEuYHUQZxLH
https://dl.doubtnut.com/l/_Sv0U3yyEWWrt

diameter of the earth.

Show did he arrive at the conclusions?

° Watch Video Solution

91. Kunal is curious to find out the relationship
between the diameter o the moon and the
earth. From the available data, it is know that
the volume of earth is 64 times the volume of
the moon. He concluded that the diameter of
the moon is 1/4 of the diameter of the earth.

Show did he arrive at the conclusions?

| e |


https://dl.doubtnut.com/l/_Sv0U3yyEWWrt
https://dl.doubtnut.com/l/_45KovmAeCnBL

& Watch Video Solution I

92. A plastic box 1.5 m long, 1.25 m wide and 65
cm deep is to be made. Its is opened at the
top. Ignoring the thickness of the plastic
sheet: determine

the area of the sheet requried for making the

box.

o Watch Video Solution



https://dl.doubtnut.com/l/_45KovmAeCnBL
https://dl.doubtnut.com/l/_Mcnb2uz3z6At

93. A plastic box 1.5 m long, 1.25 m wide and 65
cm deep is to be made. It is opened at the top.
lgnoring the thickness of the plastic sheet,
determine: (i) The area of the sheet required
for making the box. (ii) The cost of sheet for it,

if a sheet measuring 1m? costs Rs 20.

o Watch Video Solution

94. The length, breadth and height of a room

are 5 m, 4 m and 3 m respectively. Find the


https://dl.doubtnut.com/l/_TDdbssGB2fhe
https://dl.doubtnut.com/l/_N6sG76GrZXXp

cost of white washing the walls of the room

and the ceiling at the rate of 7.50 per m? .

o Watch Video Solution

95. The floor of a rectangular hall has a

perimeter 250 m. If the cost of painting the

2

four walls at the rate of Rs 10 per m” is Rs

15000, find the height of the hall.

o Watch Video Solution



https://dl.doubtnut.com/l/_N6sG76GrZXXp
https://dl.doubtnut.com/l/_WIQZ5sBEl34d

96. The paint in a certain container is sufficient
to paint an area equal to 9.375m* . How many
bricks of dimensions 22.5 cm x 10 cm x 7.5 cm

can be painted out of this container ?

o Watch Video Solution

97. A cubical box has each edge 10 cm a
cuboidal box is 10 cm wide, 12. 5 cm long 8 cm
high. Which box has the greater lateral surface

area and hy how much ?

| & |


https://dl.doubtnut.com/l/_JBZnTm3LwxUA
https://dl.doubtnut.com/l/_vEijY5XTTxmJ

| ¥ Watch Video Solution |

98. A cubical box has each edge 10 cm and a
cuboidal box is 10 cm wide, 12. 5 cm long 8 cm
high. Which box has the smaller total surface

area and by how much ?

o Watch Video Solution

99. A small indoor greenhouse (herbarium is
made entirely of glass panes (including base)

held together with tape. It is 30 cm long, 25


https://dl.doubtnut.com/l/_vEijY5XTTxmJ
https://dl.doubtnut.com/l/_3BOD5D2Cqdvc
https://dl.doubtnut.com/l/_5EF7xS8MMakd

cm wide and 25 cm high. What is the surface

area of the glass ?

° Watch Video Solution

100. A small indoor greenhouse (herbarium is
made entirely of glass panes (including base)
held together with tape. It is 30 cm long, 25
cm wide and 25 cm high. How much of tape is

needed for all the 12 edges ?

° Watch Video Solution



https://dl.doubtnut.com/l/_5EF7xS8MMakd
https://dl.doubtnut.com/l/_QZYK710t2EJt
https://dl.doubtnut.com/l/_lvpeeP9ZA72J

101. Shanti Sweets Stall was placing an order
for making cardboard boxes for paking their
sweets. Two sizes of boxes were required. The
bigger of dimensions 25 cm by 20 cm by 5 cm
and the smaller of dimensions 15 cm by 12 cm
by 5 cm. 5% of the total surface area is
required extra, for all the overlaps. If the cost
of the cardboard is Rs 4 for 1000 ¢m?, find the
cost of cardboard required for supplying 250

boxes of each kind.

o Watch Video Solution



https://dl.doubtnut.com/l/_lvpeeP9ZA72J
https://dl.doubtnut.com/l/_97BLy7SEAbCE

102. Parveen wanted to make a temporary
shelter for her car, by making a box-ike
structure with tarpaulin that covers all the
four sides and the top of the car (with the
front face as a flap which can be rolled up).
Assuming that the stitching margins are very
small, and therefore negligible, how much,
tarpaulin would be required to make the
shelter of height 2.5 m. with base dimensions

4mx3m?

O Watch Video Solution



https://dl.doubtnut.com/l/_97BLy7SEAbCE

103. The curved surface area of a right circular
cylinder of height 14 c¢m is 88cm?. Find the

diamter of the base of the cylinder.

o Watch Video Solution

104. It is required to make a closed cylindrical
tank of height 1 m and base diameter 140 cm
from a metal sheet. How many square metres

of the sheet are required for the same?

o Watch Video Solution



https://dl.doubtnut.com/l/_cE9xESpTXtVZ
https://dl.doubtnut.com/l/_oXvFgXWJCFpN

105. A metal pipe is 77 cm long. The inner
diameter of a cross section is 4 cm, the outer

diameter beignt 4.4 cm.

2 cm -
ab
s
-q-__ﬂm_____:

Inner curved surface area?

o Watch Video Solution



https://dl.doubtnut.com/l/_oXvFgXWJCFpN
https://dl.doubtnut.com/l/_TOEzbUKW4u4s

106. A metal pipe is 77 cm long. The inner
diameter of a cross section is 4 cm, the outer

diameter being 4.4 cm.

oz l.,—u'-'E

Find outer curved surface area.

o Watch Video Solution



https://dl.doubtnut.com/l/_xyNSZRokADht

107. A metal pipe is 77 cm long. The inner
diameter of a cross section is 4 cm, the outer

diameter being 4.4 cm.

oz ruq:

Find total surface area.

o Watch Video Solution



https://dl.doubtnut.com/l/_Tyl832zYfTvF

108. The diameter of a roller is 84 cm and its
length is 120 cm. It takes 500 complete
revolutions to move once over to level a
playground. Find the area of the playground in

m?,

o Watch Video Solution

109. Curved surface area of a right circular
cylinder is 4.4 m?. If the radius of the base of

the cylinder is 0.7 m, find its height.

| & I


https://dl.doubtnut.com/l/_677DH03NacES
https://dl.doubtnut.com/l/_nx6r5zO4HHjt

| ¥ Watch Video Solution |

110. The inner diameter of a circular well is 3.5

m. It is 10 m deep. Find its inner curved surface

area.

o Watch Video Solution

111. The inner diameter of a circular well is 3.5

m. It is 10 m deep. Find the cost of plastering

this curved surface at the rate of Rs 40 per m?


https://dl.doubtnut.com/l/_nx6r5zO4HHjt
https://dl.doubtnut.com/l/_Ab4DbVQ3BRhj
https://dl.doubtnut.com/l/_CQSQfHMSds7A

° Watch Video Solution

112. A cylindrical pillar is 50 cm in diameter and

3.5 m in height. Find the cost of painting the

curved surface of the pillar at the rate of ?
22

12.50 per m? Assume T = e unless stated

otherwise.

° Watch Video Solution



https://dl.doubtnut.com/l/_CQSQfHMSds7A
https://dl.doubtnut.com/l/_23c9NGbkT4Mt

113. In a hot water heating system, there is a
cylindrical pipe of length 28 m and diameter 5

cm. Find the total radiating surface in the

22
system. Assume 7 = — , unless stated

7

otherwise.

o Watch Video Solution

114. Find:- the lateral or curved surface area of

a closed cylindrical petrol storage tank that is


https://dl.doubtnut.com/l/_rvgP5yRlBCm7
https://dl.doubtnut.com/l/_X5qpEQQpWlqw

42 m in diameter and 4.5 m high. Assume

22
T = — , unless stated otherwise.

° Watch Video Solution

115. Find:- how much steel was actually used, if

— of the steel actually used was wasted in

12
22

making the tank. Assume 7 = - unless

stated otherwise.

o Watch Video Solution



https://dl.doubtnut.com/l/_X5qpEQQpWlqw
https://dl.doubtnut.com/l/_oQXMQxqkvKpf

116. In Fig., you see the frame of a lampshade.
It is to be covered with a decorative cloth. The
frame has a base diameter of 20 cm and
height of 30 cm. A margin of 2.5 cm is to be
given for folding it over the top and bottom of
the frame. Find how much cloth is required for

22

covering the lampshade. Assume m = o

o Watch Video Solution



https://dl.doubtnut.com/l/_v7KJr4kTILaH

117. The students of a Vidyalaya were asked to
participate in a competition for making and
decorating penholders in the shape of a
cylinder with a base, using cardboard. Each
penholder was to be of radius 3 cm and height
10.5 cm. The Vidyalaya was to supply the
competitors with cardboard. If there were 35
competitors, how much cardboard was
required to be bought for the competition?

22
Assume m = a ,unless stated otherwise.

o Watch Video Solution



https://dl.doubtnut.com/l/_ml2Eats1Q84k

118. Diameter of the base of a cone is 10.5 cm

and its slant height is 10 cm. Find its curved

22
surface area. Assume m = — , unless stated

7

otherwise.

o Watch Video Solution

119. Find the total surface area of a cone, if its

slant height is 21 m and diameter of its base is

22
24 m. Assume 7w = — , unless stated

7

otherwise.

| & I


https://dl.doubtnut.com/l/_1DRoGaMjCl1c
https://dl.doubtnut.com/l/_XIGBs5saCTCQ

| ¥ Watch Video Solution |

120. Curved surface area of a cone is 308cm? ,
and its slant height is 14 cm. Find radius of the

base.

o Watch Video Solution

121. Curved surface area of a conic is 305¢cm?
and its slant height is 2.4 cm. find

total surface area of the cone.

o Watch Video Solution



https://dl.doubtnut.com/l/_XIGBs5saCTCQ
https://dl.doubtnut.com/l/_CeCOl3x44mgu
https://dl.doubtnut.com/l/_KOZLLQmMErA3

122. A conical tent is 12 m high and the radius
of its base is 5 m. find:

slant height of the tent.

o Watch Video Solution

123. A conical tent is 10 m high and the radius
of its base is 24 m. Find cost of the canvas
required to make the tent, if the cost of 1m?

canvas is Rs 70.

| = 1


https://dl.doubtnut.com/l/_KOZLLQmMErA3
https://dl.doubtnut.com/l/_41U2uut3FkjE
https://dl.doubtnut.com/l/_hwdWhmCgLDz6

I &9 Watch Video Solution I

124. What length of tarpaulin 3 m wide will be
required to make conical tent of height 8 m
and base radius 6m? Assume that the extra
length of material that will be required for
stitching margins and wastage in cutting is

approximately 20 cm (use 7 = 3.14).

o Watch Video Solution



https://dl.doubtnut.com/l/_hwdWhmCgLDz6
https://dl.doubtnut.com/l/_wmB827YVP4wm

125. The slant height and base diameter of a
conical tomb are 25 m and 14 m, respectively.
Find the cost of whitewashing its curved

surface at the rate of Rs 210 per 100m?.

o Watch Video Solution

126. A joker’s cap is in the form of a right
circular cone of base radius 7 cm and height

24 cm. Find the area of the sheet required to


https://dl.doubtnut.com/l/_lOKluPKY8XAK
https://dl.doubtnut.com/l/_MjXWDSFlR763

22
make 10 such caps. Assume 7 = — unless

stated otherwise.

o Watch Video Solution

127. A bus stop is barricaded from the
remaining part of the road, by using 50 hollow
cones made of recycled cardboard. Each cone
has a base diameter of 40 cm and height 1 m.
If the outer side of each of the cones is to be
painted and the cost of painting is Rs 12 per

m?, what will be the cost of painting all these


https://dl.doubtnut.com/l/_MjXWDSFlR763
https://dl.doubtnut.com/l/_ruFGXby00msZ

cones (use m = 3.14, and take /1.04 = 1.02)

?

° Watch Video Solution

128. Find the surface area of a sphere of radius

35cm?

o Watch Video Solution

129. Find the surface area of a sphere of

radius: 5.6 cm


https://dl.doubtnut.com/l/_ruFGXby00msZ
https://dl.doubtnut.com/l/_JG10H7Ck80RW
https://dl.doubtnut.com/l/_SgZ7bM50YpWe

° Watch Video Solution

130. Find the surface area of a sphere of radius

14 cm.

o Watch Video Solution

131. Find the surface area of a sphere of
diameter

14 cm?

o Watch Video Solution



https://dl.doubtnut.com/l/_SgZ7bM50YpWe
https://dl.doubtnut.com/l/_JbAM3k65khYm
https://dl.doubtnut.com/l/_G0MR9zctCX6m

132. Find the surface area of a sphere whose

diameter is 21 dm.

° Watch Video Solution

133. Find the surface area of a sphere of

diameter: 3.5m

o Watch Video Solution



https://dl.doubtnut.com/l/_G0MR9zctCX6m
https://dl.doubtnut.com/l/_bxdg4LWMC1bZ
https://dl.doubtnut.com/l/_fHan4qg9xsY9

134. Find the total surface area of a

hemisphere of radius 10 cm . (Use 7 = 3. 14)

° Watch Video Solution

135. The radius of a spherical balloon increases
from 7 cm to 14 c¢cm as air is being pumbed
into it. Find the ratio of surface areas of the

balloon in the two cases.

o Watch Video Solution



https://dl.doubtnut.com/l/_lXgPrNe2mf8R
https://dl.doubtnut.com/l/_35JikZbJ8aUR
https://dl.doubtnut.com/l/_MkuLxRLXOxhV

136. A hemispherical bowl made of brass has
inner diameter 105 cm. Find the cost of tin-
plating it on the inside at the rate of Rs 16 per

100cm?.

° Watch Video Solution

137. Find the radius of a sphere whose surface

area is 154cm?.

o Watch Video Solution



https://dl.doubtnut.com/l/_MkuLxRLXOxhV
https://dl.doubtnut.com/l/_WafcNAccdTyW
https://dl.doubtnut.com/l/_cWyJFnXoEFOh

138. The diameter of the moon s
approximately one fourth the diamter of the

earth. Find the ratio of their surface area.

o Watch Video Solution

139. A hemispherical bowl is made of steel, 0.25
cm thick. The inner radius of the bowl is 5 cm.

Find the outer curved surface area of the bowl.

o Watch Video Solution



https://dl.doubtnut.com/l/_cWyJFnXoEFOh
https://dl.doubtnut.com/l/_AkCx9TlytU8i

140. A right circular cylinder just encloses a

sphere of radius r

-+

Curved surface area of the cylinder.

° Watch Video Solution



https://dl.doubtnut.com/l/_jfXYFewnK05P

141. A right circular cylinder just encloses a

sphere of radius r

B

curved surface area of the cylinder.

° Watch Video Solution



https://dl.doubtnut.com/l/_2cXbgAilGCcg

142. A right circular cylinder just encloses a

sphere of radius r

e —

ratio of the areas of sphere to curved surface

area of cylinder.

o Watch Video Solution



https://dl.doubtnut.com/l/_HUoETNH65LBB

143. A matchbox 4 cm x 2.5 cm x 1.5 cm. What
will be the volume a packet containing 12 such

boxes ?

o Watch Video Solution

144. A cuboidal water tank is 6 m long, 5 m
wide and 4.5 m deep. How many litres of water

can it hold ? (1 m> = 1000 I).

o Watch Video Solution



https://dl.doubtnut.com/l/_fMQ4L5Zd4uHu
https://dl.doubtnut.com/l/_9g53lC7wk0MX
https://dl.doubtnut.com/l/_Jz2Ludzem5yx

145. A cuboidal vessel is 10 m long and 8 m
wide. How high must it be made to hold

380m? of liquid ?

o Watch Video Solution

146. Find the cost of digging a cuboidal pit 8 m

long, 6 m broad and 3 m deep at the rate of Rs

30 per m>.

o Watch Video Solution



https://dl.doubtnut.com/l/_Jz2Ludzem5yx
https://dl.doubtnut.com/l/_5hdUS24C8Ga8
https://dl.doubtnut.com/l/_YYhLTvLSp9JD

147. The capacity of a cuboidal tank is 50000
litres of water. Find the breadth of the tank, if

its length and depth are respectively 2.5 m and

10 m. (1000] = 1m?)

o Watch Video Solution

148. A village, having a population of 4000,
requires 150 litres of water per head per day. It
has a tank measuring 20 m by 15 m by 6 m. For

how many days will the water of this tank last

?

| = |


https://dl.doubtnut.com/l/_YYhLTvLSp9JD
https://dl.doubtnut.com/l/_7X3hiFtvRDWs

I &9 Watch Video Solution I

149. A godown measures 40m X 25m X 1bm.
Find the maximum number of wooden crates
each measruing 1.5m X 1.25m x 0.bm that

can be stored in the godown.

o Watch Video Solution

150. A solid cube of side 12 cm is cut into eight

cubes of equal volume. What will be the side


https://dl.doubtnut.com/l/_7X3hiFtvRDWs
https://dl.doubtnut.com/l/_J5VqEP5lOk6y
https://dl.doubtnut.com/l/_QG8ie2WsORiP

of the new cube ? Also, find the ratio between

their surface areas.

° Watch Video Solution

151. A river 3 m deep and 40 m wide is flowing
at the rate of 2 km per hour. How much water

will fall into the sea in a minute?

° Watch Video Solution



https://dl.doubtnut.com/l/_QG8ie2WsORiP
https://dl.doubtnut.com/l/_uBmrwSvWecf7

152. The circumference of the base of a
cylindrical vessel is 132 cm and its height is 25
cm. How many litres of water can it hold ?

(1000cm® = 11)

o Watch Video Solution

153. The inner diameter of a cylindrical wooden
pipe is 24 cm and its out diameter is 28 cm.

The length of the pipe is 35 cm. Find the mass


https://dl.doubtnut.com/l/_6UsKXVmtHqT0
https://dl.doubtnut.com/l/_Y7X8fFjWRvoA

of the pipe, if 1 em® of wood has a mass of 0.6

g.

° Watch Video Solution

154. A soft drink is available in two packs - (i) a
tin can with a rectangular base of length 5 cm
and width 4 cm, having a height of 15 cm and
(i) a plastic cylinder with circular base of
diameter 7 cm and height 10 cm. Which

container has greater capacity and by how


https://dl.doubtnut.com/l/_Y7X8fFjWRvoA
https://dl.doubtnut.com/l/_oar6x6gbiA4w

22
much? Assume 7r:7 , unless stated

otherwise.

° Watch Video Solution

155. If the lateral surface of a cylinder is 94.2
cm? and its height is 5 cm, then find radius of

its base. (Use 7 =3.14)

° Watch Video Solution



https://dl.doubtnut.com/l/_oar6x6gbiA4w
https://dl.doubtnut.com/l/_Ou4CL99mwQxp

156. If the lateral surface of a cylinder is 94.2
cm? and its height is 5 cm, then find volume of

the cylinder. ( Use 7 = 3.14)

o Watch Video Solution

157. It costs Rs 2200 to paint the inner curved
surface of a cylindrical vessel 10 m deep. If the
2

cost of painting is at the rate of Rs 20 per m~,

find inner curved surface area of the vessel.

o Watch Video Solution



https://dl.doubtnut.com/l/_KMxeiOWBKVK9
https://dl.doubtnut.com/l/_tH2C0BgI0W2s

158. It costs Rs 2200 to paint the inner curved
surface of a cylindrical vessel 10 m deep. If the
2

cost of painting is at the rate of Rs 20 per m~,

find capacity of the vessel.

o Watch Video Solution

159. The capacity of a closed cylindrical vessel
of height 1 m s 154 litres. How many square

metres of metal sheet would be neede to


https://dl.doubtnut.com/l/_tH2C0BgI0W2s
https://dl.doubtnut.com/l/_VUbxqBcF8wYD
https://dl.doubtnut.com/l/_zUjeTvcF5YMp

make it

° Watch Video Solution

160. A lead pencil consists of a cylinder of
wood with a solid cylinder of graphite filled in

the interior. The diameter of the pencil is 7


https://dl.doubtnut.com/l/_zUjeTvcF5YMp
https://dl.doubtnut.com/l/_40m9ZwFSXvrb

mm and diameter of graphite is 1T mm. If the
length of the pencil is 14 cm, find the volumes

of the wood and that of the graphite.

° Watch Video Solution

161. A patient in a hospital is given soup daily
in a cylindrical bowl of diameter 7 cm. If the
bowl is filled with soup to a height of 4 cm,
how much soup the hospital has to prepare

daily to serve 250 patients ?

° Watch Video Solution



https://dl.doubtnut.com/l/_40m9ZwFSXvrb
https://dl.doubtnut.com/l/_ZTcSCPIxACu1

162. Find the volume of the right circular cone

with radius 6 cm, height 7 cm .

° Watch Video Solution

163. Find the volume of the right circular cone

with radius 3.5 cm, height 12 cm .

o Watch Video Solution



https://dl.doubtnut.com/l/_ZTcSCPIxACu1
https://dl.doubtnut.com/l/_YkLu89HSSrOt
https://dl.doubtnut.com/l/_iqiTJjAru1Ag

164. Find the capacity of a conical vessel with

radius 7 cm, slant height 25 cm.

o Watch Video Solution

165. Find the capacity of a conical vessel with

height 12 cm, slant height 13 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_HUtwSFBr7V8I
https://dl.doubtnut.com/l/_EKbesS8HOSlC

166. The height of a cone is 15 cm. If its volume
is 1570cm?, find the radius of the base. (Use 7

=3.14)

o Watch Video Solution

167. If the volume of a right circular cone of
height 9 cm is 48mcm?, find the diameter of its

base.

o Watch Video Solution



https://dl.doubtnut.com/l/_HPpoiWDvkzOS
https://dl.doubtnut.com/l/_gtD5UFvV6EEr
https://dl.doubtnut.com/l/_7XsKQcuc9Sif

168. A conical pit of top diameter 3.5m is 12 m

deep. Its capacity in kilo litres is :

o Watch Video Solution

169. The volume of a right circular cone is 9856

em? . If the diameter of the base is 28 cm, find

22

height of the cone. Assume 7 = — unless

stated otherwise.

o Watch Video Solution



https://dl.doubtnut.com/l/_7XsKQcuc9Sif
https://dl.doubtnut.com/l/_LGdsNfJ6ZXLo
https://dl.doubtnut.com/l/_P9rEb5Lp5kEV

170. The volume of a right circular cone is 9856

em? . If the diameter of the base is 28 ¢m, find

22

slant height of the cone. Assume 7 = —

unless stated otherwise.

o Watch Video Solution

171. The volume of a right circular cone is 9856
em? . If the diameter of the base is 28 cm, find

curved surface area of the cone. Assume

22
m = — , unless stated otherwise.

7

o Watch Video Solution



https://dl.doubtnut.com/l/_P9rEb5Lp5kEV
https://dl.doubtnut.com/l/_hBbX9w4DlWDr

172. A right triangle ABC with sides 5 cm, 12 cm
and 13 cm is revolved about the side 12 cm.
Find the volume of the solid so obtained.

22
Assume m = a ,unless stated otherwise.

o Watch Video Solution

173. If the triangle ABC in the Question above
is revolved about the side 5 cm, then find the
volume of the solid so obtained. Find also the

ratio of the volumes of the two solids


https://dl.doubtnut.com/l/_hBbX9w4DlWDr
https://dl.doubtnut.com/l/_ZinK1pS1VCxG
https://dl.doubtnut.com/l/_qTR4ugBXgG8f

obtained in above and this Questions. Assume

22
T = — , unless stated otherwise.

° Watch Video Solution

174. A heap of wheat is in the form of a cone
whose diameter is 10.5 m and height is 3 m.
Find its volume. The heap is to be covered by
canvas to protect it from rain. Find the area of

the canvas required.

° Watch Video Solution



https://dl.doubtnut.com/l/_qTR4ugBXgG8f
https://dl.doubtnut.com/l/_fbOplQS2VnRL
https://dl.doubtnut.com/l/_QQNFWnDVKTUp

175. Find the volume of a sphere whose radius

is 7 cm.

o Watch Video Solution

176. Find the volume of a sphere whose radius

is 0.63 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_QQNFWnDVKTUp
https://dl.doubtnut.com/l/_maLeUtdtNCiw

177. Find the amount of water displaced by a

solid spherical ball of diameter 28 m.

° Watch Video Solution

178. Find the amount of water displaced by a

solid spherical ball of diameter 0.21 m.

o Watch Video Solution



https://dl.doubtnut.com/l/_BlleLYOAIg9W
https://dl.doubtnut.com/l/_mzYr8HgJr255

179. The diameter of a metallic ball is 42 cm.
What is the mass of the ball, if the metal

weighs 8.9 g per cm? ?

o Watch Video Solution

180. The diameter of moon is approx, one
fourth of the diameter of the earth. What
fraction of volume of the earth is the volume

of the moon ?

° Watch Video Solution



https://dl.doubtnut.com/l/_jtcjOCU0wNdg
https://dl.doubtnut.com/l/_nRqRwEw31Xob

181. How many litres of milk can a

hemispherical bowl of diameter 10.5 cm hold?

o Watch Video Solution

182. A hemispherical tank is made up of an iron
sheet 1 cm thick. If the inner radius is 1T m, then
find the volume of the iron used to make the

tank.

° Watch Video Solution



https://dl.doubtnut.com/l/_nRqRwEw31Xob
https://dl.doubtnut.com/l/_MoCGF5sAKDk0
https://dl.doubtnut.com/l/_Si0wPsqZtIgd

183. Find the volume of a sphere whose surface

area is 154cm? .

o Watch Video Solution

184. A dome of a building is in the form of a
hemisphere. From inside, it was white

washed at the cost of Rs 498.96. If the cost of
white-washing is at the rate of Rs 2.00 per
square metre, find the inner surface area of

the dome.

| & I


https://dl.doubtnut.com/l/_AqpUyYECjEnz
https://dl.doubtnut.com/l/_J3TNhGV0Yni3

| ¥ Watch Video Solution |

185. A dome of a building is in the form of a
hemisphere. From inside, it was white

washed at the cost of Rs 498.96. If the cost of
white-washing is at the rate of Rs 2.00 per
square metre, find the volume of the air inside

the dome.

o Watch Video Solution



https://dl.doubtnut.com/l/_J3TNhGV0Yni3
https://dl.doubtnut.com/l/_isTahgpaF3T2

186. Twenty seven solid iron spheres, each of
radius r and surface area S are melted to form
a sphere with surface area S'. Find the radius r'

area of the new sphere.

o Watch Video Solution

187. Twenty seven solid iron spheres, each of
radius r and surface area S are melted to form
a sphere with surface area S'. Find the ratio of

SandS.

| & I


https://dl.doubtnut.com/l/_bWBJKfeeXgrV
https://dl.doubtnut.com/l/_sXALp2mMltXK

| ¥ Watch Video Solution |

188. A capsule of medicine is in the shape of a
sphere of diameter 3.5 mm. How much
medicine (in mm?>) is needed to fill this

capsule ?

o Watch Video Solution

189. A wooden bookshelf has external
dimensions as follows: Height =110 cm, Depth =

25 cm, Breadth = 85 cm. The thickness of the


https://dl.doubtnut.com/l/_sXALp2mMltXK
https://dl.doubtnut.com/l/_Df8PzCLAA6g1
https://dl.doubtnut.com/l/_ZlCk7P1gZfaj

plank is 5 cm everywhere. The external faces
are to be polished and the inner faces are to
be painted. If the rate of polishing is

2 and the rate of painting is

20patisepercm
10paisepercm® Find the total expenses

required for polishing and painting the


https://dl.doubtnut.com/l/_ZlCk7P1gZfaj

surface of the bookshelf.

o Watch Video Solution

190. If diameter of a sphere is decreased by

25% then what percent does its curved surface


https://dl.doubtnut.com/l/_ZlCk7P1gZfaj
https://dl.doubtnut.com/l/_pBK4UFSo3LlA

area decrease ?

o Watch Video Solution

191. The volume of a sphere is equal to two
third of the volume of a cylinder whose height
and diameter are equal to the diameter of the

sphere.

° Watch Video Solution



https://dl.doubtnut.com/l/_pBK4UFSo3LlA
https://dl.doubtnut.com/l/_7ZEs2qL6GgSe

192. If the radius of a right circular cone is
halved and height is doubed, the volume

remains unchanged.

o Watch Video Solution

193. In a right circular cone, height, radius and
slant height do not always be the sides of a

right triangle?

o Watch Video Solution



https://dl.doubtnut.com/l/_e4pdAyaX9LrD
https://dl.doubtnut.com/l/_CamQWF8PB4Fu
https://dl.doubtnut.com/l/_W3LYj2rWPwNz

194. The volume of largest side right circular
cone that can be fitted in a cube whose edge
is 2r equals to the volume of a hemisphere of

raduis r.

o Watch Video Solution

195. A cylinder and a right circular cone of
hesimphere having the same base and same
height. The volume of the cylinder is 3times

the volume of the cone.

o Watch Video Solution



https://dl.doubtnut.com/l/_W3LYj2rWPwNz
https://dl.doubtnut.com/l/_Vj2TNwGEdfrf

196. State whether True or False.
If radius of cylinder is doubled and height is

halved then the new volume becomes 2 times.

o Watch Video Solution

197. A cylinder and a right circular cone of
hesimphere having the same base and same
height. The volume of the cylinder is 3times

the volume of the cone.

| = 1


https://dl.doubtnut.com/l/_Vj2TNwGEdfrf
https://dl.doubtnut.com/l/_AwpW40HMDqI6
https://dl.doubtnut.com/l/_4XHBO1vVfxqs

I &9 Watch Video Solution I

198. A cone a hemisphere and a cylinder stand
on equal bases and have the same height. The

ratio of their volumes is 1:2:3.

° Watch Video Solution

199. If a sphere is inscribed in a cube then the
ratio of the volume of the cube to the volume

of sphere willl be 6: 7

l o Watch Video Solution


https://dl.doubtnut.com/l/_4XHBO1vVfxqs
https://dl.doubtnut.com/l/_Y6bBa0rQpaHi
https://dl.doubtnut.com/l/_amXzUIQdCNml

200. If the length of the diagonal of a cube is
64/3 cm, then the length of the edge of the

cube is 3 cm.

° Watch Video Solution

201. State whether True or False.
If radius of cylinder is doubled and height is

halved then the new volume becomes 2 times.

° Watch Video Solution



https://dl.doubtnut.com/l/_amXzUIQdCNml
https://dl.doubtnut.com/l/_LMjGYUskBz8q
https://dl.doubtnut.com/l/_TL2NyPQetQjK

202. Metal spheres, each of radius 2 cm, are
packed into a rectangular box of internal
dimensions 16cm X 8cm X 8&m. When 16
spheres are packed the box is filled with
preservative liquid. Find the volume of this
liquid (in cm 3) Give your answer to the

nearest integer.

o Watch Video Solution



https://dl.doubtnut.com/l/_TL2NyPQetQjK
https://dl.doubtnut.com/l/_XPd3NKWICqCg

203. A storage tank is in the form of cube.
When it is full of water, the volume of water is
15.625¢m>. If the present depth of water is 1.3
m, find the volume of water already used form

the tank.

o Watch Video Solution

204. How many square metres of canvase is
requierd for a conical tent whose height is 3.5

m and the radius of the base is 12 m?

| & I


https://dl.doubtnut.com/l/_gdm61VppLItH
https://dl.doubtnut.com/l/_nTEfLzbZLclA

| ¥ Watch Video Solution |

205. Two solid spheres made of the same
metal have weights 5920g and 740 g,
respectively. Determine the radius of the
larger sphere. If the diameter of the smaller

oheis 5 cm.

o Watch Video Solution

206. Find the amount of water displaced by a

solid spherical ball of diameter 28 m.


https://dl.doubtnut.com/l/_nTEfLzbZLclA
https://dl.doubtnut.com/l/_9U4b9zDHXmLH
https://dl.doubtnut.com/l/_hd61hFWJbqRv

° Watch Video Solution

207. A school provides milk to the students
daily in cylindrical glasses of diameter 7 cm. if
the glass is filled with milk upto an height of
12 cm, find how many litres of milk is needed

to seved 1600 students.

° Watch Video Solution



https://dl.doubtnut.com/l/_hd61hFWJbqRv
https://dl.doubtnut.com/l/_dENwglSRuSYx

208. A cylindrical roller 2.5 m in length, 1.75 m
in radus when rolled on a road was found to
cover the area of 5500m% How many

revolutions did it make?

o Watch Video Solution

209. A small village having a populations of
5000, requires 75 litres of water per head per

day. The village has got an overhead tank of


https://dl.doubtnut.com/l/_ktJen0PBzo9O
https://dl.doubtnut.com/l/_CIQSrxgPBts6

measurement 40m X 25m X 15m. The how

many days will the water of this tank last?

o Watch Video Solution

210. A right circular with sides 6cm, 8cm and10
cm is revolved about the side 8 cm. find the
volume and the curved surface area of the

solid so formed.

o Watch Video Solution



https://dl.doubtnut.com/l/_CIQSrxgPBts6
https://dl.doubtnut.com/l/_1wI1YyV76OZc

211. A shopkeeper has one spherical laddoo of
radius 5 cm with the same amount of materal,
how many laddoos of radius 2.5 cm can be

made?

o Watch Video Solution

212. A cylindrical tube opened at both ends is
made of iron sheet which is 2cm thick. If the

outer diameter is 15 cm and its length is


https://dl.doubtnut.com/l/_qKHkJ0rbmOkK
https://dl.doubtnut.com/l/_LE0yEPS0yy8f

100cm, find how many cubic centimeters of

iron has been used in making the tube?

° Watch Video Solution

213. A semi circular sheet of metal of diameter
28 cm is bent to form an open conical cup.

Find the capacity of the cup.

° Watch Video Solution



https://dl.doubtnut.com/l/_LE0yEPS0yy8f
https://dl.doubtnut.com/l/_gxhoUmAiyCby

214. A cloth having an area of 165m? is shaped
into the form of a conical tent of radius 5m
How many students can sit in the tent if a

D

student, on the average occupies = on the

ground.

o Watch Video Solution

215. A cloth having an area of 165m? is shaped
into the form of a conical tent of radius 5m

find the volume of the cone.

| & I


https://dl.doubtnut.com/l/_GLsXSQ4wRKRo
https://dl.doubtnut.com/l/_zjPP1SZWo3tL

| ¥ Watch Video Solution |

216. The water for a factory is stored in a
hemispherical tank whose internal diameter is
14 m. The tank contains 50 kilo litres of water.
Water is pumped into the tank to fill to its
capacity. Calculate the volume of water

pumped into the tank.

o Watch Video Solution



https://dl.doubtnut.com/l/_zjPP1SZWo3tL
https://dl.doubtnut.com/l/_9IZxoOWZDH5l

217. The volumes of the two spheres are in the
ratio 64:27. find the ratio of their surface

areas.

o Watch Video Solution

218. A cube of side 4 cm contains a spheres
toucing its sides. Find the volume of the gap

in between.

o Watch Video Solution



https://dl.doubtnut.com/l/_VHGmfA6rMf69
https://dl.doubtnut.com/l/_4pOx72tJhLeB
https://dl.doubtnut.com/l/_LMCBAKom6B53

219. 30 circular plates, each of rdius 14 cm and
thickness 3 cm are placed in one above the
another to form a cylindrical solid. Find

the total surface area.

o Watch Video Solution

220. 30 circular plates, each of rdius 14 cm and
thickness 3 cm are placed in one above the
another to form a cylindrical solid. Find

volume of the cylinder so formed.

o Watch Video Solution



https://dl.doubtnut.com/l/_LMCBAKom6B53
https://dl.doubtnut.com/l/_hnWD6o9CFoUv

221. A sphere and a right circular cylinder of
the same radius have equal volumes. By what
percentage does the diameter of the cylinder

exceed its height?

° Watch Video Solution

Exercise


https://dl.doubtnut.com/l/_hnWD6o9CFoUv
https://dl.doubtnut.com/l/_MpGvdZHrxxW2

1. Find the lateral surface and total surface
area of a cuboid of length 80 cm, breadth 40

cm and height 20 cm.

o Watch Video Solution

2. Find the total lateral surface area of a cube

of edge is 10 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_e53uwwjs6ior
https://dl.doubtnut.com/l/_MaSBxUrlGDja

3. The latera surface area of a cube is 1014

sg.cm, find the main diagonal of the cube.

o Watch Video Solution

4. The lateral surface area of a cube is 64m?

find its total surface area.

o Watch Video Solution



https://dl.doubtnut.com/l/_SwXhCREyw1Fp
https://dl.doubtnut.com/l/_1zRRZChsyyXA

5. Find the ratio of the total surface area and

lateral surface area of a cube.

° Watch Video Solution

6. The dimensions of a room are
bm x 4m X 3m. Find the cost of white
washing the walls of the room and the ceiling

at the rate of Rs11.5perm?.

o Watch Video Solution



https://dl.doubtnut.com/l/_yaLebNYoQc2c
https://dl.doubtnut.com/l/_52lZy3DRNsyF
https://dl.doubtnut.com/l/_ODflINhkSnDq

7. Find the length of the longest rod that can
be placed in a room 12 m long 9 m broad and 8

m high.

o Watch Video Solution

8. Can we construct a cube whose length of
main diagonal is 13,/3cm and diagonal of the

face is 124/2cm?

o Watch Video Solution



https://dl.doubtnut.com/l/_ODflINhkSnDq
https://dl.doubtnut.com/l/_UjmtKcNOLc4E
https://dl.doubtnut.com/l/_6G2qoznxGwSG

9. Three equal cubes are placed adjacently in a
row. Find the ratio of total surface of the new
cuboid to that of the sum of their surface

areas of the three cubes.

° Watch Video Solution

10. The momentum of a body is increased by
50% what is the percentage increase in its K.

E.?

° Watch Video Solution



https://dl.doubtnut.com/l/_6G2qoznxGwSG
https://dl.doubtnut.com/l/_jqOM5urltp7v
https://dl.doubtnut.com/l/_NkOxHPYckahb

11. The cost of preparing the walls of a room 12
m long at the rate of Rs 1.35 per square metre
is Rs 340.20 and the cost of matting the floor
at 85 paise per square metre is Rs 91.80 find

the height of the room.

o Watch Video Solution

12. The length and breadth of a room are in
the ratio 4:3 and its height is 5.5 meters. The

cost of decorating its wall including doors and


https://dl.doubtnut.com/l/_NkOxHPYckahb
https://dl.doubtnut.com/l/_u20CNQ9yBVFj

windows at Rs 6.60 per square metre is Rs

5082. find the length and breadth of the room.

° Watch Video Solution

13. A class room is 7 m long, 6.5 m wide and 4
m high. It has one door 3 m x 1.5 m and three
windows, each measuring 2 m x 1 m. The
interiror walls are to be colour washed. The
contractor charges Rs 5.25 per sq. m. Find the

cost of colour washing.

° Watch Video Solution



https://dl.doubtnut.com/l/_u20CNQ9yBVFj
https://dl.doubtnut.com/l/_ZsXYwdNrOMBm

14.1f V is the volume of a cuboid of dimensions

a,b,c and S is its surface area, then prove that
1 B 2 (1 N 1 N 1
V S\a b ¢

o Watch Video Solution

15. The areas of three adjacent faces of a
cuboid are xy and z. if the volume is V, prove

that V? = zyz.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZsXYwdNrOMBm
https://dl.doubtnut.com/l/_Vyq7MMLOB5WU
https://dl.doubtnut.com/l/_N9l0DNegT0d8

16. Find the volume of the cuboid whose
dimensions are

length=26m, breadth=14m and height=6.5m

o Watch Video Solution

17. Find the volume of the cuboid whose
dimensions are

length=24 m, breadth=25 m and height =6m.

o Watch Video Solution



https://dl.doubtnut.com/l/_SKxfV6P1V0pT
https://dl.doubtnut.com/l/_jcO9GCrkF9fc
https://dl.doubtnut.com/l/_Dve2pu1WxhPH

18. If the areas of three adjacent faces of a
cuboid are 8¢m?, 18cm? and 25¢m?. Find the

volume of the cubiod.

o Watch Video Solution

19. The breadth of a room is twice its height
and is half of its length. The volume of room is

512dm?. Its dimensions are :

o Watch Video Solution



https://dl.doubtnut.com/l/_Dve2pu1WxhPH
https://dl.doubtnut.com/l/_l5y96xEwMXko
https://dl.doubtnut.com/l/_joPMP60nJpix

20. Two cubes, each of volume 512cm? are
joined end to end. Find the surface area of the

resulting cuboid.

o Watch Video Solution

2. How many planks of dimensions
(bm x 25¢m x 10cm) can be stored in a pit

which is 20 m long, 6m wide and 80 cm deep?

o Watch Video Solution



https://dl.doubtnut.com/l/_joPMP60nJpix
https://dl.doubtnut.com/l/_0XyZ3NocNcqR

22. How many bricks will be required to
construct a wall 12 m three smaller cubes. If
the edges of the two smaller cubes are 6 cm
and 8 cm, find the edge of the third smaller

cube.

o Watch Video Solution

23. Given that 1 cubic cm of marble weights

0.25 kg, the weight of marble block 28 cm in


https://dl.doubtnut.com/l/_xe3T1Gr5ilzW
https://dl.doubtnut.com/l/_iYqkhX9zDarh

width and 5 cm thick is 112kg. Find the length

of the block.

° Watch Video Solution

24. A river 3 m deep and 40 m wide is flowing
at the rate of 2 km per hour. How much water

will fall into the sea in a minute?

° Watch Video Solution



https://dl.doubtnut.com/l/_iYqkhX9zDarh
https://dl.doubtnut.com/l/_b7IMhkkk39fC

25. How many persons can be accommondatd
in a dining hall of dimensions
(20cm x 16cm x 4.5cm), assuming that each

persons requires 5 cubic metres of air?

o Watch Video Solution

26. The volumes of a cuboid is 1536cm?. Its
length is 16 m and its breadth and height are
in the ratio 3:2. find the breadth and height of

the cuboid.

| & I


https://dl.doubtnut.com/l/_FrVTBMu3ctA7
https://dl.doubtnut.com/l/_J4K9dLy3PCrC

| ¥ Watch Video Solution |

27. In a shower, 5 cm of rain falls, find the
volume of water that falls on 2 hectares of

graound.

o Watch Video Solution

28. A rectangular container, whose base is a
square of side 5 cm, stands on a horizontal
table, and holds water up to 1 cm from the

top. When a cube is placed in the water it is


https://dl.doubtnut.com/l/_J4K9dLy3PCrC
https://dl.doubtnut.com/l/_oG5YR75mvd34
https://dl.doubtnut.com/l/_PeIuJUyj2PYk

completely submerged, the water rises to the
top and 2 cubic cm of water overflows.
Calculate the volume of the cube and also the

length of its edge.

o Watch Video Solution

29. A field is in the form of a rectangle of
length 18 m and width 15 m. A pit, 7.5 m long, 6
m broad and 0.8 m deep, is dug in a corner of
the field and the earth taken out is spread

over the remaining area of the field. Find out


https://dl.doubtnut.com/l/_PeIuJUyj2PYk
https://dl.doubtnut.com/l/_vWOi5wGRq4Hz

the extent to which the level of the field has

been raised.

° Watch Video Solution

30. A rectangular tank is 80 m long and 25 m
braod water flows into it through a pipe
whose cross section is 25cm2, at the rate of 16
km per hour. How much the level of the water

rises in the tank in 45 minutes.

° Watch Video Solution



https://dl.doubtnut.com/l/_vWOi5wGRq4Hz
https://dl.doubtnut.com/l/_Ae7om9qhITQf
https://dl.doubtnut.com/l/_p19DRndO42Re

31. Find the curved surface area of a right
circular cylinder at height 21 cm and base

radius 5 cm.

° Watch Video Solution

32. The diameter of a cylinder is 28 cm and its
height is 40 cm. find the curved surface area

and the total surface area of the cylinder.

° Watch Video Solution



https://dl.doubtnut.com/l/_p19DRndO42Re
https://dl.doubtnut.com/l/_JV8E7wWNevij
https://dl.doubtnut.com/l/_8tpD2bysQ91o

33. A solid cylinder has total surface area of
462cm?. Its curved surface area of one third of
its total surface area. Find the radius and

height of the cylinder.

° Watch Video Solution

34. Find the ratio between the total surface
area of a cylinder to its curved surface area,
given that its height and radius are 7.5 cm and

3.5 cm respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_8tpD2bysQ91o
https://dl.doubtnut.com/l/_CwM2Vhg39RcG

35. The total surface area of a hollow metal
cylinder, open at both ends, of external radius
8cm and height 10cm is 338mem? Taking r cm
to be inner radius, write down an equation inr
and use it to find the thickness of the metal in

the cylinder.

o Watch Video Solution

36. The diameter of a roller 1.5 m long is 84 cm.

If it takes 100 revolutions to level a


https://dl.doubtnut.com/l/_CwM2Vhg39RcG
https://dl.doubtnut.com/l/_VBCmqolhjVwj
https://dl.doubtnut.com/l/_hCslPuWISrR6

playground, find the cost of levelling this
ground at the rate of 50 paise per square

meter.

° Watch Video Solution

37. A cylindrical vessel, without lid, has to be
tin-coated on its both sides. If the radius of
the base is 70cm and its height is 14m,
calculate the cost of tin-coating at the rate of

Rs. 3.50 per 1000cm?’.

° Watch Video Solution



https://dl.doubtnut.com/l/_hCslPuWISrR6
https://dl.doubtnut.com/l/_oILlI5Fl1WgE

38. 50 circular plates each of radius 7 cm and 1
thickness 2 cm are placed one above another
to form a solid right circular cylinder. Find the

total surface area and volume of the cylinder

so formed.

o Watch Video Solution

39. The area of the curved surface of a cylinder
is 4400 sq.cm and the circumference of its

base is 110 cm. find the height of the cylinder.


https://dl.doubtnut.com/l/_oILlI5Fl1WgE
https://dl.doubtnut.com/l/_6Pmysbshd6q0
https://dl.doubtnut.com/l/_i2OzPWWdYM5V

° Watch Video Solution

40. Forty cylindrical pillars of the building are
to be cleaned. If the diameter of the pillar is
0.50 m and height is 4 m. find the cost of

cleaning them at the rate of Rs 2.50perm?.

o Watch Video Solution

41. Find the cost of sinking tube well 280 m

deep having diameter 3 m at the rate of Rs


https://dl.doubtnut.com/l/_i2OzPWWdYM5V
https://dl.doubtnut.com/l/_FGOAx5XcKgTT
https://dl.doubtnut.com/l/_J6IgaFfo4Z5N

3.60perm??

o Watch Video Solution

42. The diameter of a cylindrical well is 4.5 m
and depth of the well is 14m. Find the cost of
cementing its inner curved surface at the rate

of Rs 12.50 per sqg. metre.

° Watch Video Solution



https://dl.doubtnut.com/l/_J6IgaFfo4Z5N
https://dl.doubtnut.com/l/_XTs3XExv3LgV

43.Find the volume of a right circular cylinder

of height 21 cm and base radius 5 cm.

° Watch Video Solution

44.The diameter of a cylinder is 28 cm and its
height is 40 cm. find the volume of the

cylinder.

° Watch Video Solution



https://dl.doubtnut.com/l/_7ZArp55CPiBT
https://dl.doubtnut.com/l/_WBLvrFLvvpps

45.The area of the curved surface of a cylinder
is 4400 sq.cm and the circumference of its

base is 110 cm. find the height of the cylinder.

o Watch Video Solution

46. The sum of the radius of the base and the
height of a solid cylinder is 37 cm. If the total
2

surface area of the solid cylinder is 1628 cm?,

find the volume of the cylinder.

o Watch Video Solution



https://dl.doubtnut.com/l/_TBvjPsr8KUzH
https://dl.doubtnut.com/l/_iuskIFxI1Rup

47.The ratio between curved surface area and
total surface area of right circular cylinder is
1: 2 find the ratio between the height and the

radius of the cylinder.

o Watch Video Solution

48. The radii of two cylinders are in the ratio
2:3 and their heights are in the ratio 5:3.
Calculate the ratio of their volumes and the

ratio of their curved surfaces.


https://dl.doubtnut.com/l/_iuskIFxI1Rup
https://dl.doubtnut.com/l/_GrJOxryeALLZ
https://dl.doubtnut.com/l/_MaU5ww31R0kJ

° Watch Video Solution

49. The ratio between the radius of the base
and the height of cylindrical is 2:3. Find the

total surface area of the cylinder, if its volume

is 1617cm?

o Watch Video Solution

50. The curved surface area of a cylindrical

pillar is 264m? and its volume is 924m®. Find


https://dl.doubtnut.com/l/_MaU5ww31R0kJ
https://dl.doubtnut.com/l/_dG6ysiBhoZGi
https://dl.doubtnut.com/l/_EEISgN6TWOzl

the diameter and the height of the pillar.

o Watch Video Solution

51. Find the weight of a lead pipe 3.5 m long.
The external diameter of pipe is 24 cm and
thickness of the pipe is 3 mm and 1 cm. of lead

weights 10 g.

° Watch Video Solution



https://dl.doubtnut.com/l/_EEISgN6TWOzl
https://dl.doubtnut.com/l/_nUZSFmgepRtS

52. How many cubic metres of earth must be
dug out to sink a well 14 m deep and 4 m in
diameter? What will it cost to plaster its inner

surface at Rs 2.50 per square metre?

o Watch Video Solution

53. A powder tin has a square base with side 12
cm and height 17.5 cm. another is cylindrical

with diameter of its base 12 cm and height 17.5


https://dl.doubtnut.com/l/_RIgX8cEuS33A
https://dl.doubtnut.com/l/_sEhQQFRt5oVO

cm. which has more more capacity and by how

much?

° Watch Video Solution

54. A copper rod of diameter 1 cm and length 8
cm is drawn into a wire of length 18 m of
uniform thickness. Find the thickness of the

wire.

o Watch Video Solution



https://dl.doubtnut.com/l/_sEhQQFRt5oVO
https://dl.doubtnut.com/l/_abzl0QFPmcPY

55. The trunk of a tree is cylindrical and its
circumference is 176 cm. If the length of the
trunk is 3 m, find the volume of the timber

that can be obtained form the trunk.

o Watch Video Solution

56. Water flows out through a circular pipe
whose internal diameter is 2 cm, at the rate of
6 metres per second into a cylindrical tank.

The water is collected in a cylindrical vessel,


https://dl.doubtnut.com/l/_ve1bYpr27zjN
https://dl.doubtnut.com/l/_Dtz2LTIFvf0y

radius of whose base is 60 cm. find the rise in

the level of water in 30 minutes?

° Watch Video Solution

57. From a top of inner radius 0.75 cm, water
flows at the rate of 7 m per second. Find the
volume in litres of water delivered by the pipe

in one hours.

o Watch Video Solution



https://dl.doubtnut.com/l/_Dtz2LTIFvf0y
https://dl.doubtnut.com/l/_CHMQt4ZtDKiq

58. A well of diameter 2 m is dug 14 m deep.
The earth taken out of it is spread evenly all
around it to a width of 5 m do form an
embankment. Find the height of the

embankment.

o Watch Video Solution

59. A rectangular sheet of paper
30cmx X 18¢cm can be transformed into the

curved surface of a right circular cylinder in


https://dl.doubtnut.com/l/_FfLIMzgSczzi
https://dl.doubtnut.com/l/_FlsmZEqaqkqL

two ways namely, either by rolling the paper
along its length or by rolling it along its
breadth. Find the ratio of the volumes of the

two cylinders, thus formed.

o Watch Video Solution

60. The barrel of a fountain-pen, cylindrical in
shape, is 7 cm long and 5 mm in diameter. A
full barrel of ink in the pen will be used up on

writing 330 words on an average. How many


https://dl.doubtnut.com/l/_FlsmZEqaqkqL
https://dl.doubtnut.com/l/_DrpY6NWYm5t9

words would use up a bottle of ink containing

one fifth of a litre ?

° Watch Video Solution

61. Water is flowing at the rate of 3km/h
through a circular pipe of 20 cm internal
diameter into a circular pipe of into a circular
cisten of diameter 10m and depth 2 m. in how

much time, will the cistern be filled?

° Watch Video Solution



https://dl.doubtnut.com/l/_DrpY6NWYm5t9
https://dl.doubtnut.com/l/_gZso3WRSFlmk
https://dl.doubtnut.com/l/_t7Au3NH7vAtX

62. A cylindrical water tank of diameter 1.4 m
and height 21 m is being fed by a pipe of
diameter 3.5 cm through which water flows at
the rate of 2 metre per second. In how many

time the tank will be filled?

° Watch Video Solution

63. Find the curved area of a cone, if its slant
height is 60 cm and the radius of its base is 21

cam.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_t7Au3NH7vAtX
https://dl.doubtnut.com/l/_OCgvO8fFO1SI

64. The radius of a cone is 7 cm and area of
curved surface is 176em?. Find the slant

height.

° Watch Video Solution

65. The radius of a cone is 5 cm and vertical
height is 12 cm. find the area of a curved

surface.

° Watch Video Solution



https://dl.doubtnut.com/l/_OCgvO8fFO1SI
https://dl.doubtnut.com/l/_IFu4Wikwhzl4
https://dl.doubtnut.com/l/_9Z8XmJO5H1qN

66. find the total surface area of a right
circular cone with radius 6 cm and height 8

cam.

° Watch Video Solution

67.The height of a cone is 21 cm. find the area

of the base if the slant height is 28 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_9Z8XmJO5H1qN
https://dl.doubtnut.com/l/_hCl94s4cqQ1L
https://dl.doubtnut.com/l/_Ste396knZFKp
https://dl.doubtnut.com/l/_SOIpX84g0r9p

68. The radius of the slant height of a cone are
in the ratio of 4:7. if its curved surface area is

792cm?. Find its radius.

o Watch Video Solution

69. The area of the curved surface of a cone is
60mem?. If the slant height of the cone be 8

cm, find the radius of the base.

o Watch Video Solution



https://dl.doubtnut.com/l/_SOIpX84g0r9p
https://dl.doubtnut.com/l/_iv1BHE7bJlam
https://dl.doubtnut.com/l/_Hl6EjV4jXJLJ

70. The diameter of two cones are equal. If
their slant height s are in the ratio 5:4. find

the ratio of their curved surface areas.

° Watch Video Solution

71. There are two cones, the curved surface
area of one is twice that of the other. The slant
height of the later is twice that of the former.

Find the ratio of their radii.

° Watch Video Solution



https://dl.doubtnut.com/l/_Hl6EjV4jXJLJ
https://dl.doubtnut.com/l/_l156ppstAqUO
https://dl.doubtnut.com/l/_Q0UEST4vRSxo

72. A tent of heihgt 33 m is in the form of a
right circular cylinder of diameter 120 m and
height 22 m surmounted by a right circular
cone of the same diameter. Find the cost of

canvas of the tent at the rate of Rs1.50perm?.

o Watch Video Solution

73. A cylinder and a cone have equal radii of
their bases and equal heights. If their curved

surface areas are in the ratio 8:5, show that


https://dl.doubtnut.com/l/_Q0UEST4vRSxo
https://dl.doubtnut.com/l/_75FdrxeIEWE1

the radius of each is to be heihgt of each as

3:4

° Watch Video Solution

74. The curved surface area of a cone exceeds
the base area by 88cm? it slant height exceeds
the base radius by 4 cm. find the radius of the

base.

o Watch Video Solution



https://dl.doubtnut.com/l/_75FdrxeIEWE1
https://dl.doubtnut.com/l/_7ygm3MaxBrGr

75. A tent is in the form of a right circular
cylinder, surmounted by a cone. The diameter
of the cylinder is 24 m. The height of the
cylindrical portion is 11 m, while the vertex of
the cone is 16 m above the ground. Find the

area of the canvas required for the tent.

o Watch Video Solution

76. A circus tent is cylindrical upto a height of

3 m and conical above it. If the diameter of the


https://dl.doubtnut.com/l/_GcKBYtbsnL6s
https://dl.doubtnut.com/l/_kLBIeyMyoUke

base is 105 m and the slant height of the
conical part is 53 m, find the total cost of the
canvas used to make the tent when the cost

per square metre of the canvas is ? 10.

o Watch Video Solution

77. A metallic toy is in the shape of a cylinder
whose both ends are conical in shape
diameter of circular cross-section of cylinder is

6 cm and its height is 10 cm the length of the


https://dl.doubtnut.com/l/_kLBIeyMyoUke
https://dl.doubtnut.com/l/_kT4WMaXqkWae

toy is 18 cm find the cost of gold plating it

Rs. 100perem?.

° Watch Video Solution

78. Find the volume of a right circular cone
with

Radius 4 m and height 9 m.

° Watch Video Solution



https://dl.doubtnut.com/l/_kT4WMaXqkWae
https://dl.doubtnut.com/l/_NXgayITo0tjO

79. Find the volume of a right circular cone
with

Diameter 5 m and height 5 m

o Watch Video Solution

80. The height of a right circular cone is 12 cm.

if its volume is 100mem?, find its radius.

° Watch Video Solution



https://dl.doubtnut.com/l/_VuUGONQtzgrX
https://dl.doubtnut.com/l/_XWJASMRPcMJQ

81. Vertical height of a right circular cone is

four times its radius and its volume is 36mem?.

Find the height.

o Watch Video Solution

82. Find the volume of a cone having radius of

the base 35 cm and slant height 37 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_OIjmfh3Sup5o
https://dl.doubtnut.com/l/_gsybGdBHYMTV

83. Two cones have their heights in the ratio
1:3 and the radii of their bases in the ratio 3:1.

show that their volumes are in the ratio 3:1.

o Watch Video Solution

84. The ratio of volumes of two cones is 4:5
and the ratio of the radii of their bases is 2:3.

find the ratio of their vertical heights.

o Watch Video Solution



https://dl.doubtnut.com/l/_KtZl0oqh4Z08
https://dl.doubtnut.com/l/_DtYb5FZTh6aJ
https://dl.doubtnut.com/l/_TCU9btKABY9R

85. The radius and the height of a right
circular cone are in the ratio 5 : 12. If its
volume is 314cm?, find the slant height and

the radius of the cone. [Use 7 =3.14]

o Watch Video Solution

86. If the radius of the base of a cone is halved,
keeping the height same, what is the ratio of
the volume of the reduced cone to that of the

original cone?

o Watch Video Solution



https://dl.doubtnut.com/l/_TCU9btKABY9R
https://dl.doubtnut.com/l/_wGDTzUFfuN72

87.Find the weight of a solid cone whose base
is of diameter 14 cm and vertical height 51 cm,
supporting the material of which it is made

weighs 10 grams per cubic cm.

o Watch Video Solution

88. A right angled triangle of which the sides
containing the right angle are 6.3cm and 10cm

in length, is made to turn around on the


https://dl.doubtnut.com/l/_wGDTzUFfuN72
https://dl.doubtnut.com/l/_G3ddYhTpUmx3
https://dl.doubtnut.com/l/_FCkjd8oA7QCf

longer side. Find the volume of the solid thus

generated.

° Watch Video Solution

89. A tent is in the form of right circular cone
of height 6m , the diameter of base 7m . If 12
adults can sleep in it , find the average cubic

metre of air space required per adult.

o Watch Video Solution



https://dl.doubtnut.com/l/_FCkjd8oA7QCf
https://dl.doubtnut.com/l/_UZgoqRnlHyrp

90. A right circular cone is 3.6 cm high and the
radius of its base is 1.6 cm. it is melted and
recast into a right circular cone with radius of

its base as 1.2 cm. find its height.

o Watch Video Solution

91. A conical vessel whose internal radius is 5
cm and height of 24 cm is full of water. The

water is emptied into a cylindrical vessel with


https://dl.doubtnut.com/l/_6pgFUDsclKPz
https://dl.doubtnut.com/l/_BzQryjKPLcE2

internal radius 10 cm. Find the height to which

the liquid rises.

° Watch Video Solution

92. An iron pillar consists of a cylindricla
portion 2.8 m high and 20 m in diamter and a
cone 42 cm. high is surmounting it. Find the
weight of the pillar, given that lem® of iron

weights 7.5 g.

° Watch Video Solution



https://dl.doubtnut.com/l/_BzQryjKPLcE2
https://dl.doubtnut.com/l/_nBMcpHsDohtD
https://dl.doubtnut.com/l/_dZxCAqNiKMPq

93. From a solid right circular cylinder with
height 10 cm and radius of the base 6 cm, a
right circular cone of the same height and
base if removed. Find the volume of the

remaining solid.

° Watch Video Solution

94. Water flows a the rate of 10 metres per
minute through a cylindrical pipe 5 mm in

diameter. How long would it take to fill a


https://dl.doubtnut.com/l/_dZxCAqNiKMPq
https://dl.doubtnut.com/l/_p6QkA5axqboQ

conical vessel whose diameter at the surface is

40 cm and depth 24em?.

° Watch Video Solution

95. A rocket is in the form of a circular cylinder
closed at the lower end with a cone of the
same radius attached to the top. The cylinder
is of radius 2.5m and height 21m and the cone

has the slant height 8m. Calculate the total


https://dl.doubtnut.com/l/_p6QkA5axqboQ
https://dl.doubtnut.com/l/_oitJX2FT04pH

surface area and the volume of the rocket.

8 m

Fedm A A

21 m

N~

° Watch Video Solution



https://dl.doubtnut.com/l/_oitJX2FT04pH

96. Find the surface area of the sphere of
radius:

10.5 cm

o Watch Video Solution

97. Find the surface area of the sphere of
radius:

5cm?

o Watch Video Solution



https://dl.doubtnut.com/l/_Ts8cySIcJMUp
https://dl.doubtnut.com/l/_H57suPZwIj6c
https://dl.doubtnut.com/l/_QBGqX5Je9Kkn

98. Find the surface area of a sphere of
diameter

14 cm?

o Watch Video Solution

22

99. Assume ™ = 7 , unless stated otherwise .

Find the surface area of a sphere of diameter :

21 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_QBGqX5Je9Kkn
https://dl.doubtnut.com/l/_4CJ9JlyCZ2g3
https://dl.doubtnut.com/l/_1jRdOD8FQijM

100. Find the curved surface area and total

surface area of hemisphere of radius 14 cm.

° Watch Video Solution

101. The surface area of a sphere is 5544cm?

find diameter.

o Watch Video Solution

102. The diameter of the moon s

approximately one fourth the diamter of the


https://dl.doubtnut.com/l/_1jRdOD8FQijM
https://dl.doubtnut.com/l/_2OZsb49DoYB9
https://dl.doubtnut.com/l/_UkHxQKdI1XOD

earth. Find the ratio of their surface area.

o Watch Video Solution

103. If diameter of a sphere is decreased by
25% then what percent does its curved surface

area decrease ?

o Watch Video Solution

104. The surface area of a sphere is same as

the curved surface area of a cone having the


https://dl.doubtnut.com/l/_UkHxQKdI1XOD
https://dl.doubtnut.com/l/_fx7QaxbHjvwx
https://dl.doubtnut.com/l/_jyLhVZT9XlVH

radius of base as 120 cm and height 160 cm.

find the radius of the sphere.

° Watch Video Solution

105. Assuming the earth to be a sphere of
radius 6370 km, how many square kilometers
is area of the land, if three-fourth of the

earth’s surface is convered by water.

o Watch Video Solution



https://dl.doubtnut.com/l/_jyLhVZT9XlVH
https://dl.doubtnut.com/l/_S7WEWoHnMSOC

106. The radius of a spherical balloon increases
from 6 cm to 12 cm. Compare the surface areas

of the balloon in the two cases.

o Watch Video Solution

107. A dome of a building is in the form of a
hemisphere. From inside, it was white
washed at the cost of Rs 498.96. If the cost of

white-washing is at the rate of Rs 2.00 per


https://dl.doubtnut.com/l/_1ZjCeWaCUUNE
https://dl.doubtnut.com/l/_ImOlE2mzU1KH

square metre, find the inner surface area of

the dome.

° Watch Video Solution

108. A toy is in the form of a cone mounted on
a hemisphere of radius 3.5 cm. The total
height of the toy is 15.5 cm. Find the surface

area of the toy

o Watch Video Solution



https://dl.doubtnut.com/l/_ImOlE2mzU1KH
https://dl.doubtnut.com/l/_a8rHDRftoQJE

109. The internal and external diameters of a
hollow hemispherical vessel are 24 cm and 25
cm respectively. Find the cost of painting the

vessel all over, at the rate of 5 paise per sq.cm.

° Watch Video Solution

110. Find the volume of a sphere whose radius

is : 3.5 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_88Jusk5DrpPm
https://dl.doubtnut.com/l/_f1qgmOJONlav
https://dl.doubtnut.com/l/_bhDE2hdjTPx3

111. Find the volume of a sphere whose radius
is

5m

o Watch Video Solution

112. Find the surface area of a sphere whose

volume is 4851cm’.

o Watch Video Solution



https://dl.doubtnut.com/l/_bhDE2hdjTPx3
https://dl.doubtnut.com/l/_zMC6NdNz57Af

113. The volume of a sphere is 38808cm?. Find

its radius and hence its surface area.

o Watch Video Solution

114. The surface area of a sphere is 576mem?.

Find its volume.

o Watch Video Solution



https://dl.doubtnut.com/l/_gCaUEaPLGWCs
https://dl.doubtnut.com/l/_LXfZdpBkYs3l

115. A hemspherical tank has inner radius of 2.8

m. find its capacity in litres.

o Watch Video Solution

116. If the radius of a sphere is doubled, what
is the ratio of the volume of the first sphere to

that of the second sphere?

o Watch Video Solution



https://dl.doubtnut.com/l/_HrjY4DRmKc2T
https://dl.doubtnut.com/l/_xYLZv4Tez2Ah

117. A hemspherical tank has inner radius of 2.8

m. find its capacity in litres.

o Watch Video Solution

118. If the radius of a sphere is doubled, what
is the ratio of the volume of the first sphere to

that of the second sphere?

o Watch Video Solution



https://dl.doubtnut.com/l/_8QA070VlmyV1
https://dl.doubtnut.com/l/_R5dOFXGGIPD2

119. A hemisphere of a lead of radius 7 cm is
cast into a right circular cone of height 49 cm,

find the radius of the base.

o Watch Video Solution

120. The outer diameter of a spheircal shell is
10 cm and the inner diameter is 9 cm. find the

volume of the metal contained in the shell.

o Watch Video Solution



https://dl.doubtnut.com/l/_lftFCRpFMXkS
https://dl.doubtnut.com/l/_PLkqZmz0odf4
https://dl.doubtnut.com/l/_dnAW2NjemJeP

121. A cone and a hemispher have equal bases
and equal volumes. Find the ratio of their

lenghts.

o Watch Video Solution

122. A hemispherical bowl is made of steel 0.25
cm thick. The inner radius of the bowl is 5 cm.
Find the volume of steel used in making the

bowl. [ Take 7 = 3.14]

° Watch Video Solution



https://dl.doubtnut.com/l/_dnAW2NjemJeP
https://dl.doubtnut.com/l/_7Jnuc6a0dZdd

123. A metallic sphere of radius 4.2 cm is
melted and recast into the shape of cylinder of

radius 6 cm. Find the height of the cylinder.

o Watch Video Solution

124. A cylinder whose height is two thirds of its
diameter has the same volume as a sphere of
radius 4 cm. calculate the radius of the base of

the cylinder.

o Watch Video Solution



https://dl.doubtnut.com/l/_hYgIBToMyIzI
https://dl.doubtnut.com/l/_GG1mQSqfO2Nb

125. The diameter of a copper sphere is 6 cm.
The sphere is melted and is drawn into a long
wire of uniform circular cross section. If the

length of the wire is 36 cm, find its radius.

o Watch Video Solution

126. The diameter of a copper sphere is 6 cm. It
is beaten and drawn into a wire of diameter

0.2 cm. Find the length of wire.

o Watch Video Solution



https://dl.doubtnut.com/l/_GG1mQSqfO2Nb
https://dl.doubtnut.com/l/_odO3JlQRZYmj
https://dl.doubtnut.com/l/_WlSHKX8hhela

127. How many lead shots each 0.3 cm in
diameter be can made from a cuboid of

dimension 9cm X 1llem X 12em ?

o Watch Video Solution

128. A spherical ball of lead 3 cm in diameter is
melted and re casted into three spherical
balls. If the diameter of two balls be 5 and
2 cm, find the diameter of the third ball.

| = |


https://dl.doubtnut.com/l/_WlSHKX8hhela
https://dl.doubtnut.com/l/_YwPwxlkvkPJN
https://dl.doubtnut.com/l/_NSj5ayLp5bSo

I &9 Watch Video Solution I

129. A measuring jar of internal diameter 10 cm
is partially filled with water. Four equal
spherical balls of diameter 2 cm each is
dropped in it and they sink down in water
completely. What will be the change in the

level of water in the jar?

o Watch Video Solution



https://dl.doubtnut.com/l/_NSj5ayLp5bSo
https://dl.doubtnut.com/l/_wCX7VFA6W28O

130. The interior of a building is in the form of
a right circular cylinder of diameter 4.2 m and
height 4 m, surmounted by a cone. The vertical
height of the cone is 21 m. Find the outer

surface area and volume of the building.

o Watch Video Solution

131. In the Fig., solid consists of a cylindrical
section of length 6.5 cm and surmounted by a

cone at one end, a hemisphere at the other


https://dl.doubtnut.com/l/_BOFixrjSGIII
https://dl.doubtnut.com/l/_oaLvjMQbdUuM

end. Given that common radius is 3.5 cm and
the total height of solid is 12.8 cm find the

volume of solid

o Watch Video Solution

132. A cylindrical tub of radius 12 cm contains
water to a depth of 20 cm. A spherical ball is

dropped into the tub and the level of the


https://dl.doubtnut.com/l/_oaLvjMQbdUuM
https://dl.doubtnut.com/l/_PjnJgs2vsJce

water is raised by 6.75 cm. Find the radius of

the ball.

° Watch Video Solution

133. If the total surface area of a cube is 54z>.

Find its lateral surface.

o Watch Video Solution

134. Find the total surface area of a cuboid

which is 6 cm long, 7 cm wide and 8 cm high.


https://dl.doubtnut.com/l/_PjnJgs2vsJce
https://dl.doubtnut.com/l/_57nF395j2F1e
https://dl.doubtnut.com/l/_dFOKyfWr3CbO

° Watch Video Solution

135. Find the edge of a cube whose surface

area is 432m?.

o Watch Video Solution

136. The surface area of a cuboid is 1300cm?>. If
its length is 15 cm and height is 20 Ocm, find

its breadth.

o Watch Video Solution



https://dl.doubtnut.com/l/_dFOKyfWr3CbO
https://dl.doubtnut.com/l/_W18BNdoCYBq0
https://dl.doubtnut.com/l/_9srDqeDd1L2B

137. If two cubes, each of side 6 cm are joined
face to face, then find the volume of the

resulting cuboid?

o Watch Video Solution

138. Write the number of surfaces of a right

circular cylinder.

° Watch Video Solution



https://dl.doubtnut.com/l/_9srDqeDd1L2B
https://dl.doubtnut.com/l/_7KjmJ7P5n928
https://dl.doubtnut.com/l/_TRPrVRKi9Qzi
https://dl.doubtnut.com/l/_SyFOmpQG6kIP

139. Base radius of two cylinder are in the ratio
2 : 3 and their heights are in the ratio 5: 3. The

ratio of their volumes is :

° Watch Video Solution

140. The heihgt of a cone is 15 cm. if its volume

if 500rem?. Then find the radius of its base.

o Watch Video Solution



https://dl.doubtnut.com/l/_SyFOmpQG6kIP
https://dl.doubtnut.com/l/_NuvJHgftqLfX

141. The height and the slant height of a cone
are 21 cm and 28 cm respectively. Find the

volume of the cone.

o Watch Video Solution

142. Find the volume of the largest right
circular cone that can be placed in a cube of

edge 14 cm,

o Watch Video Solution



https://dl.doubtnut.com/l/_PQYkwEgBxwIt
https://dl.doubtnut.com/l/_IL7nXrckLnVY
https://dl.doubtnut.com/l/_g7UlDC7HenEl

143. Find thelenght of cloth used in making a
conical pandal of height 100 m and bas radius

240 m, if cloth is 100 m wide.

o Watch Video Solution

144. Find the surface area of a sphere of radius

14 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_g7UlDC7HenEl
https://dl.doubtnut.com/l/_eFANnKRg66jQ

145. Find the volume of the sphere whose

surface are is 154em?.

° Watch Video Solution

146. If a sphre of radius of 2r has the same
volume as that of a cone with circular base of

radius r, then find the height of the cone.

° Watch Video Solution



https://dl.doubtnut.com/l/_MloVKbqmUFLL
https://dl.doubtnut.com/l/_CPmFkF5BpWFM

147. If a sphere is inscribed in a cube, find the
ratio of the volume of cube to the volume of

the sphere.

o Watch Video Solution

148. Find the total surface area of a

hemisphere of radius 16 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_jp62JwF3jq2p
https://dl.doubtnut.com/l/_2Kuw6WZPraSL

149. The surface area of a sphere of radius 5
cm is five times the area of the curved surface
of a cone of radius 4 cm, find the height of the

cone.

° Watch Video Solution

150. Find the maximum volume of a cone that

can be carved out a solid hemisphere of radius

° Watch Video Solution



https://dl.doubtnut.com/l/_N5wRfuGUGd1b
https://dl.doubtnut.com/l/_eJZaS2R4PowP

151. What amount of milk that a hemispherical

bowl of radius 10 Ocm can hold?

o Watch Video Solution

152. If the volumes of two spheres are in the
ratio 6: 27, find the ratio of their surfaces

areas.

o Watch Video Solution



https://dl.doubtnut.com/l/_eJZaS2R4PowP
https://dl.doubtnut.com/l/_lVym0QpwdJ2k
https://dl.doubtnut.com/l/_3CtdGtGNLukl
https://dl.doubtnut.com/l/_tntB0zVSqt1G

153. True/false
Two identical solid cubes of side a are joined
end to end. Then the total surface area of

resulting cuboid is 12a°.

o Watch Video Solution

154. True/false

Two identical solid hemisphers of equal base
radius r cm stuck together along their bases.
The total surface are of the combination is

Gmre.

| = 1


https://dl.doubtnut.com/l/_tntB0zVSqt1G
https://dl.doubtnut.com/l/_LE3GFf8MpSPu

I &9 Watch Video Solution I

155. True/false
IF the volumes of two spheres are in the ratio
64:27, then the ratio of their surfaces ares is

16:9.

o Watch Video Solution

156. True/false

The largest possible right circular cone is cut


https://dl.doubtnut.com/l/_LE3GFf8MpSPu
https://dl.doubtnut.com/l/_wHHzjXudgK4o
https://dl.doubtnut.com/l/_SYEwu9QmpFoe

out of a cube of edge r cm. The volume of the

1
cone is — 77",

° Watch Video Solution

157. True/false
If a sphere is inscribed in a cube, then the
ratio of the volume of the cube to the volume

of the sphere is 6: 7.

o Watch Video Solution



https://dl.doubtnut.com/l/_SYEwu9QmpFoe
https://dl.doubtnut.com/l/_9Q79sQlk50Fn

158. If the length of the diagonal of a cube is
64/3 cm, then the length of the edge of the

cube is 3 cm.

o Watch Video Solution

159. True/false
For a right circular of base radius 7 cm and

height 14 cm, total area of end faces 154cm?.

o Watch Video Solution



https://dl.doubtnut.com/l/_JkqNVnRAlFL2
https://dl.doubtnut.com/l/_RKchjPELeWa8
https://dl.doubtnut.com/l/_GVlhcyQ30Urd

160. A metal pipe is 77 cm long. The inner
diameter of a cross section is 4 cm, the outer

diameter being 4.4 cm.

oz l.,—u'-'E

Find outer curved surface area.

o Watch Video Solution

161. True/false

In case of a hollwo cylinder. Inner curved


https://dl.doubtnut.com/l/_GVlhcyQ30Urd
https://dl.doubtnut.com/l/_rOvsK1q94iuZ

surface area of a hollow cyIinder=27rh(R — r)

o Watch Video Solution

162. True/false
If total surface of a cube of side is 294cm?,

then a=8cm.

o Watch Video Solution

163. Fill ups

Diagonal of a cuboid dimensions [ X b X h is


https://dl.doubtnut.com/l/_rOvsK1q94iuZ
https://dl.doubtnut.com/l/_k8o4WlF4yt9c
https://dl.doubtnut.com/l/_0cLuXOSpRk4g

o Watch Video Solution

164. Fill ups

The principal diagonal of a cube of edge a is

o Watch Video Solution

165. Fill ups

The dimensions of a cuboidal vessel are


https://dl.doubtnut.com/l/_0cLuXOSpRk4g
https://dl.doubtnut.com/l/_0LbX9vTkuNtD
https://dl.doubtnut.com/l/_LImJCcgeeF7Q

100m x bm X 2m, it can hold.......... kilolitre

of petrol.

° Watch Video Solution

166. Fill ups
The capacity of a cuboidal tank is 50 ki, if its
length and depth are 25 m and 10 m

respectively, then its bradth is..............

o Watch Video Solution



https://dl.doubtnut.com/l/_LImJCcgeeF7Q
https://dl.doubtnut.com/l/_wPsSlPBgs6Bw

167. Fill ups
................. times the volume of a cone is equal to
volume of cylinder having height and radius

same as that of cone.

o Watch Video Solution

168. Fill ups
The curved surface area of a hollow cylinder of
height h with external and internal radius as R

and ris........ i

| & I


https://dl.doubtnut.com/l/_O8AP2WbdYElA
https://dl.doubtnut.com/l/_55nr26mMQiyU

| ¥ Watch Video Solution |

169. Fill ups
The surface area generated by revolving a
bangle about one of its diameters

IS eeeeeesmsrsssmanees times the areas of a bangle.

o Watch Video Solution

170. Fill ups
The number of children each holding an empty

cone of radius 2 cm and heigh 7 cm, who can


https://dl.doubtnut.com/l/_55nr26mMQiyU
https://dl.doubtnut.com/l/_zKGVxqPZu7nb
https://dl.doubtnut.com/l/_M9yc709Vky0v

be served form a cubical ice cream brick of

edge 22 cm iS..cenernnnn.

° Watch Video Solution

171. Fill ups
The numbre of conical vessels required to
empty the completely filled cylinder of same

height and base radius is........... :

o Watch Video Solution



https://dl.doubtnut.com/l/_M9yc709Vky0v
https://dl.doubtnut.com/l/_xM1pCOgRG2e1

172. Fill ups
If a metallic hemisphere is recasted into a
sphere, then radius of old radius of new radius

dléa ........eeeeeeee .

o Watch Video Solution

173. The length breadth and height of cuboid
are 15 m, 6m and 5 dm respectively. The lateral

surface area of the cuboid is

A. 45m?


https://dl.doubtnut.com/l/_NiDwQV1zxP6L
https://dl.doubtnut.com/l/_Dbl8WrMWsXit

B. 201m?

C. 21m>

D. 90m>

Answer:

o Watch Video Solution

174. What is the maximum length of a pencil
that can be placed in a rectangular box of

dimensions (8cm x 6cm x bem) ?


https://dl.doubtnut.com/l/_Dbl8WrMWsXit
https://dl.doubtnut.com/l/_NKgf1gSaIcuE

A.1) 8cm

B.2) 19 cm

C.3)9.5cm

D.4) 11.2 cm

Answer:

o Watch Video Solution

175. How many bricks will be required to

construct a wall 8 m long, 6 m hight and 22.5


https://dl.doubtnut.com/l/_NKgf1gSaIcuE
https://dl.doubtnut.com/l/_wbF9UtJR323y

cm thick if each brick measures 25 cm

long,11.25 cm high and 6 cm?

A. 5600

B. 4800

C. 5200

D. 6400

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_wbF9UtJR323y

176. The lateral surface area of a cube is

256¢m?. The volume of the cube is

A. 64cm’

B. 256¢cm®

C. 256m>

D. 512m?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_taMr0nB2MLp7
https://dl.doubtnut.com/l/_0YhG96y1UGBF

177. The volume of a cube is 512cm?. Its total

surface area is

A. 384cm?

B. 256¢cm >

C.512cm?

D. 64cm’

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0YhG96y1UGBF

178. Three cubes of metal with edges 3 cm, 4
cm and 5 cm respectively are melted to form a
single cube. The lateral surface area of the
new cube formed is

A. 144cm?

B. 72cm?

C. 256cm?

D. 128cm?

Answer:

‘ ° Wiak hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_ap4mShmVdbIr

VVCILLIL VI INAGINIE L J

179. Two cubes have their volumes in the ratio

1:27. the ratio of their surfacs area is

A 1:8

B.1:3

C.1:8

D.1:9

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ap4mShmVdbIr
https://dl.doubtnut.com/l/_Uvt8nNCqvKri

180. The diameter of the base of a cylinder is 6

cm and its height is 1 4 cm. the volume of the

cylinder is

A. 198cm?

B. 396¢cm®

C. 495cm?

D. 297cm?

Answer:

O Watch Video Solution



https://dl.doubtnut.com/l/_Uvt8nNCqvKri
https://dl.doubtnut.com/l/_uHJknxKUAcl5

181. If the curved surface area of a cylindre is

1760cm?. And its base is radius is 14 cm. then

its height is

A. 10cm

B. 20cm

C.15cm

D.40 cm

Answer:

I o Watch Video Solution


https://dl.doubtnut.com/l/_uHJknxKUAcl5
https://dl.doubtnut.com/l/_ouqdO8bXOsK0

182. Vertical cross section of a right circular

cylinder is always a

A. square

B. rhombus

C. rectangle

D. trapezium

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ouqdO8bXOsK0
https://dl.doubtnut.com/l/_iKFAuRB03aJ9

183. The number of surfaces of a hollow

cylindrical object is

Al

B.2

C.3

D.4

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_iKFAuRB03aJ9
https://dl.doubtnut.com/l/_QtYxvITOFfza

184. If the height of a cylinder is doubled and

radius remains the same, then volume will be

A. doubled

B. same

C. halved

D. four times

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_HRiETX1bPKbM
https://dl.doubtnut.com/l/_zy70d7IgeAPI

185. If the height of a cylinder is doubled, by
what number must the radius of the base be
multiplied so that the resulting cylinder has

the same volume as the orginial cylinder

A4

N

t‘Dl - <||
ek
N

o

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_zy70d7IgeAPI

186. The height h of a cylinder equal the
circumference of the cylinder. In terms of h,

what is the volume of the cylinder?

h3
4r
h2
2
h3
2

D. th?®

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_zy70d7IgeAPI
https://dl.doubtnut.com/l/_1GG3fRz2Uj8G

187. Two steel sheets each of length a; and
breadth as are used to prepare the surfaces of
two right circular cylinders-one having volume
v; and height ay and other having volume v,

and height a; then
A. V1 = vy
B.ajv; = AUy
C. asV1 = A1V
V1 V2

D.— = —
ai a2


https://dl.doubtnut.com/l/_1GG3fRz2Uj8G
https://dl.doubtnut.com/l/_ch6j87pFduZ6

Answer:

o Watch Video Solution

188. The radius of a wire is decreased to one

third. If volume remains the same, the length

will become

A. 3 times

B. 6 times

C.9 times

D. 27 times


https://dl.doubtnut.com/l/_ch6j87pFduZ6
https://dl.doubtnut.com/l/_OH0dKw1A3Y5F

Answer:

o Watch Video Solution

189. The height of a cone is 21 cm and its slant

height is 28 cm. the volume of the cone is

A. 7356¢cm>

B. 7506¢cm>

C. 7546¢cm°

D. 7564cm®


https://dl.doubtnut.com/l/_OH0dKw1A3Y5F
https://dl.doubtnut.com/l/_ewJv4df2g226

Answer:

o Watch Video Solution

190. If the volumes of two cones be in the ratio

1:4 and the radii of their bases be in the ratio

4:5, then the ratio of their heights is

A l:5

B.25:16

C.5:4

D. 25: 64


https://dl.doubtnut.com/l/_ewJv4df2g226
https://dl.doubtnut.com/l/_YCt84rgNoJLJ

Answer:

o Watch Video Solution

191. The ratio of the volumes of a right circular

cylinder and a right circular cone of the same

base and the same height will be

Al:3

B.4:3

C.3:1

D.3:4


https://dl.doubtnut.com/l/_YCt84rgNoJLJ
https://dl.doubtnut.com/l/_F1k82dSkuAfm

Answer:

o Watch Video Solution

192. If the height and the radius of a cone are

doubled, he volume of the cone becomes:

A. 4 times

B. 3 times

C. 6 times

D. 8 times


https://dl.doubtnut.com/l/_F1k82dSkuAfm
https://dl.doubtnut.com/l/_TIrRuOuro3CZ

Answer:

o Watch Video Solution

193. The volume of a sphere of radius 10.5 cm

IS

A. 9702cm?

B. 19404cm 3

C. 4851cm?

D. 14553cm?®


https://dl.doubtnut.com/l/_TIrRuOuro3CZ
https://dl.doubtnut.com/l/_j7fObZMoLEAc

Answer:

o Watch Video Solution

194. The volume of a sphere is 38808cm®. Its
curved surface area is

A. 5544cm?

B. 4158¢cm?

C. 8316cm?

D. 1386¢cm>


https://dl.doubtnut.com/l/_j7fObZMoLEAc
https://dl.doubtnut.com/l/_eYXiKRwMp0dv

Answer:

o Watch Video Solution

195. The radius of a hemispheircal balloon
increases from 6 cm to 2 c¢cm is air is being
pumped into it. The ratio of the surface areas
of the balloons in two cases is

Al:4

B.2:3

C.1:3


https://dl.doubtnut.com/l/_eYXiKRwMp0dv
https://dl.doubtnut.com/l/_fX4TPGg61nia

D.1:2

Answer:

° Watch Video Solution

196. A hemispherical bowl of internal radius 9
cm is full of liquid. This liquid is to filled into
cylindricalshaped small bottles each of
diameter 3 cm and height 4 cm. How many

bottles are necessary to empty the bowl ?

A. 63


https://dl.doubtnut.com/l/_fX4TPGg61nia
https://dl.doubtnut.com/l/_9hMoXmPCcisS

B. 54

C.35

D. 27

Answer:

o Watch Video Solution

197. A cone and a hemispher have equal bases
and equal volumes. Find the ratio of their

lenghts.


https://dl.doubtnut.com/l/_9hMoXmPCcisS
https://dl.doubtnut.com/l/_bygYukrs89mF

Al:2
B.4:1

C.2:1

D./2:1

Answer:

o Watch Video Solution

198. The radius of a sphere is 2r. Then its

volume will be


https://dl.doubtnut.com/l/_bygYukrs89mF
https://dl.doubtnut.com/l/_52PDROMTyubx

Answer:

° Watch Video Solution

199. The total surface area of a cube is 96cm?.

The volume of the cube is


https://dl.doubtnut.com/l/_52PDROMTyubx
https://dl.doubtnut.com/l/_BUIZkcTL7WRO

A. 80cm?®

B. 5123cm?

C. 64cm’

D. 27cm?

Answer:

o Watch Video Solution

200. A cone is 8.4 cm high and the radius of its
base is 21 cm. It is melted and recast into a

sphere. The radius of the sphere is


https://dl.doubtnut.com/l/_BUIZkcTL7WRO
https://dl.doubtnut.com/l/_DyJ4sbtj10Zj

A. 4.2 cm

B.21cm

C.24 cm

D. 1.6 cm

Answer:

° Watch Video Solution

201.In a cylinder radius is doubled and height

is halved, curved surface area will be


https://dl.doubtnut.com/l/_DyJ4sbtj10Zj
https://dl.doubtnut.com/l/_HQgGTKlyMSUu

A. halved

B. doubled

C.same

D. four times

Answer:

o Watch Video Solution

202. The total surface area of a cone whose

radius is % and slant height 2l is


https://dl.doubtnut.com/l/_HQgGTKlyMSUu
https://dl.doubtnut.com/l/_MdENeq92kyFN

A.2mtr(l + 7)

B (l+7r>
LT 4

C.owr(l+r)

D. 27r

Answer:

o Watch Video Solution

203. Base radius of two cylinder are in the
ratio 2 : 3 and their heights are in the ratio 5:

3. The ratio of their volumes is :


https://dl.doubtnut.com/l/_MdENeq92kyFN
https://dl.doubtnut.com/l/_z0Ol9hWkFaDJ

A. 1017

B.20: 27

C.17:27

D. 20: 37

Answer:

° Watch Video Solution

204. The lateral surface area of a cube is

256¢m?. The volume of the cube is


https://dl.doubtnut.com/l/_z0Ol9hWkFaDJ
https://dl.doubtnut.com/l/_xqqCEXqvFgad

A. 512m?

B. 64m°

C.216m3

D. 256m3

Answer:

o Watch Video Solution

205. The number of planks of dimensions
(4m x 50m x 20cm) that can be stored a pit

which is 16 m long, 12 m wide and 40 m deep is


https://dl.doubtnut.com/l/_xqqCEXqvFgad
https://dl.doubtnut.com/l/_dDs2j7gYLME1

A. 1900

B. 1920

C. 1800

D. 1840

Answer:

o Watch Video Solution

206. The length of the longest pole that can
be put in a room of dimensions

(10m x 10m x 5bm) is


https://dl.doubtnut.com/l/_dDs2j7gYLME1
https://dl.doubtnut.com/l/_ZAKVDO94vjOh

A.15m

B.16 m

C.10 m

D.12m

Answer:

° Watch Video Solution

207. The radius of a hemispheircal balloon

increases from 6 cm to 2 cm is air is being


https://dl.doubtnut.com/l/_ZAKVDO94vjOh
https://dl.doubtnut.com/l/_eye8NSZtW5pv

pumped into it. The ratio of the surface areas

of the balloons in two cases is

Al:4

B.1:3

C.2:3

D.2:1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_eye8NSZtW5pv

208. The slant height of a right circular cone is
10 cm and its height is 8 cm. It is cut by a plane
parallel to its base passing through the
midpoint of the height. Ratio of the volume of
the cone to that of the frustum of the cone

cutis

A2:1

B.3:2

C.4:3

D.&:7


https://dl.doubtnut.com/l/_ElfAOoYKdJqe

Answer:

o Watch Video Solution

209. A cone and a hemispher have equal bases
and equal volumes. Find the ratio of their
lenghts.

A2:1

B.1/2:1

C.v/3:2

D.3:1


https://dl.doubtnut.com/l/_ElfAOoYKdJqe
https://dl.doubtnut.com/l/_5heFyILgrqW5

Answer:

o Watch Video Solution

210. Three solid sphres of radius 1 cm, 6 cm
and 8 cm, respectively are melted together
and cast into a single sphere. The radius r of

this sphere will be

Ar > 9cm

B.r=9 cm

C.9cm < r < 10em


https://dl.doubtnut.com/l/_5heFyILgrqW5
https://dl.doubtnut.com/l/_dluKf8UqqgVC

D.r > 10cm

Answer:

° Watch Video Solution

211. The ratio of the volumes of a right circular
cylinder and a right circular cone of the same
base and the same height will be

Al:3

B.3:1


https://dl.doubtnut.com/l/_dluKf8UqqgVC
https://dl.doubtnut.com/l/_MfgHSqFrRr5V

C.4:3

D.3:4

Answer:

° Watch Video Solution

212. If the ratio of the volumes of two spheres

is 1:8, then the ratio of their surfaces area is

Al:2

B.1:4


https://dl.doubtnut.com/l/_MfgHSqFrRr5V
https://dl.doubtnut.com/l/_fsHGSiQcRW2n

C.1:8

D.1:16

Answer:

o Watch Video Solution

213. If a solid sphere of radius r is melted and
cast into the shape of a solid cone of height r,

then the radius of the base of the cone is

A 2r


https://dl.doubtnut.com/l/_fsHGSiQcRW2n
https://dl.doubtnut.com/l/_KMNyMlkAkcIH

C.4r

D. 3r

Answer:

o Watch Video Solution

214. A cone of semi vertical angle of a is
inscribed in a sphere of radius 2 cm. the

height of the cone is


https://dl.doubtnut.com/l/_KMNyMlkAkcIH
https://dl.doubtnut.com/l/_0nMpTTLYw7wQ

A.1) 4sin’ o
B.2) 4cos’ o
C.3)4sino

D.4) 4 cos «

Answer:

o Watch Video Solution

215. How many cubical blocks wose edge
measures 3 cm can be formed by melting a

cubic block of metal whose edge is 15 cm?


https://dl.doubtnut.com/l/_0nMpTTLYw7wQ
https://dl.doubtnut.com/l/_pGM1CRUKYW0H

° Watch Video Solution

216. How much length of the iron sheet 11 cm,
wide is required for making an open cylinder

15 cm high and 7 cm as base radius.

° Watch Video Solution

217. The slant side of a right circular cone is 10
m and its height 8 m. find the area of its

curved surface.

| e |


https://dl.doubtnut.com/l/_pGM1CRUKYW0H
https://dl.doubtnut.com/l/_TvIJxxK0C6Xo
https://dl.doubtnut.com/l/_JKsKJT4pa0ah

& Wwatch Video Solution I

218. Find the lateral surface area of a cube of

side is 8 cm.

o Watch Video Solution

219. The total surface area of a cylinder is
462cm? and its curved surface area is one
third of its total surface area. Find the volume

of the cylinder.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_JKsKJT4pa0ah
https://dl.doubtnut.com/l/_TOCdsv1Vdrie
https://dl.doubtnut.com/l/_G6tNuyikSxJ7

220. If the radius of a sphere is increased by
10%, prove that its volume will be increased by

331%

° Watch Video Solution

221. The surface area of a sphere of radius 5
cm is five times the area of the curved surface
of a cone of radius 4 cm, find the height of the

cone.



https://dl.doubtnut.com/l/_G6tNuyikSxJ7
https://dl.doubtnut.com/l/_NENA715AMlTc
https://dl.doubtnut.com/l/_pX2KkfSfxNif

Watch Video Solution

222. A well with 10 m inside diameter is dug 14
m deep. Earth taken out of its is spread all
around to a width of 5 m to form an
embankment. Find the height of the

embankment.

° Watch Video Solution

223. How many metres of cloth 5 m wide will

be required to make a conical tent, the radius


https://dl.doubtnut.com/l/_pX2KkfSfxNif
https://dl.doubtnut.com/l/_HFnGvvXc98TW
https://dl.doubtnut.com/l/_1bOWI4E2gjL1

of whose base is 7 m and whose height is 24

m?

° Watch Video Solution

224. The volume of two spheres are in the
ratio 64:27. Find the difference of their

surfaces areas if the sum of their radii is 7 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_1bOWI4E2gjL1
https://dl.doubtnut.com/l/_PlDCKfSUcXoy

225. The radius and height of right circular
cone area in the ratio 4:3 and is volume is
2156cm?. Find the curved surface area of the

cone.

o Watch Video Solution

226. The radius of the base of a cone is 14 cm
and its height is 24 cm. find the volume, curved
surface area and total surface area of the

cone.

| & |


https://dl.doubtnut.com/l/_oHX69IyyHvLR
https://dl.doubtnut.com/l/_Ly7pBM1kHXcr

| ¥ Watch Video Solution |

227. The ratio of the curved surface area and
the total surface area of a circular cylinder is
1:2 and the total surface area is 616cm?. Find

its volume.

o Watch Video Solution

228. Two cylindrical vessels are filled with oil.
Their radii are 15 cm respectively and their

heights are 25 cm and 18 cm respectively. Find


https://dl.doubtnut.com/l/_Ly7pBM1kHXcr
https://dl.doubtnut.com/l/_LZFtdtaFLY1Y
https://dl.doubtnut.com/l/_Sc8Kcxo86TZD

the radius of the cylindrical vessel 33 cm in
height which will just contain the oil of the

two given vessels.

o Watch Video Solution



https://dl.doubtnut.com/l/_Sc8Kcxo86TZD

